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Sl. No.1
QBID:6201001

The data of installed capacity of electricity produced by different sources of energy (solar,
wind and coal) in two states(X) and (Y) alongwith their respective populations are given for

the years 2011 and 2021 in the table given below. Based on the data, answer the following
questions:

Statewise details of population and installed capacity of electricity

State X State Y
Population . . .
Year mn) Solar(GW)|Wind (GW)|Coal(GW)|Population(mn)|Solar(GW)|Wind (GW)|Coal (GW)
mn
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

I (x) IR (v) F St & i widt (@R, vaT ofv Fraen) gr1 Safed fega 1 wifta
&THT 31T ST SHUT-SUHT FAEE & U § T4 2011 31T 2021 F 3fFs = &f 72 dferar
& R T ¥ ofiwst & STuR W U Y Uk F I i

AR SHEET SR R0 [3ggd &l &1 faazo

[T X TH Y

af YT g | gee | oger Sagem| OR | udd | o
(e )| afrmrare)| (fivrare) | @fmare)| (aferm) | fimmare) [@fvmare) | @fimare)

2011| 50 20 10 40 60 15 08 50

2021 60 28 15 42 68 20 10 55

In which state and for what type of energy source of electricity, the percentage decadal growth
(%) in installed capacity was maximum?

1. State X, Sloar
2. State X, Wind
3. State Y, Solar
4. State Y, Wind

(1) 1
) 2
3) 3
4) 4




fooe W9 H 3R faggd & SHoll Aid & b UbR H ®IMUd &Hdl @1 GO gig (Hawr) sifidad
or?

1.9 X, BR
2. TG X, 981
3. 39 ¥, R
4.5 Y, 9ad

1)
(2)
(3)
(4)

A W N R

1[Option ID=39101] Question Description : dwbv_pg_gp6_eng_2_q1
2[Option ID=39102]
3[Option ID=39103]
4[Option ID=39104]

Sl. No.2
QBID:6201002

The data of installed capacity of electricity produced by different sources of energy (solar,
wind and coal) in two states(X) and (Y) alongwith their respective populations are given for
the years 2011 and 2021 in the table given below. Based on the data, answer the following
questions:

Statewise details of population and installed capacity of electricity

State X State Y
Population . . .
Year (mn) Solar(GW)|Wind (GW)|Coal(GW)|Population(mn)|Solar(GW)|Wind (GW)|Coal (GW)
mn
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

T o0 3R (v) H ot F i St &R, va ok e TR sanfed figga # wift|
&HAT S ST UHT- U SEE F HIu F 9¢ 2011 31X 2021 F b F4 & 7 ArferwT
# fau T §1 Siipet F STUR W TS T Ust F IT SHore:

AR SEET AR ®fUd faggd aman &1 faaem

I X A Y

of [T G | g | siuer [wedEn| 9R | e | oEe
(e )| @fierrare | efiemare) | @fimare) | @ferm) | @ fmare) | afmare) @frmare)
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55




What was the per capita availability of electricity in state X in the year 2021

1.~ 1.21 kW
2.~ 141 kW
3.~ 1.25 kW
4.~ 1.62 kW

?

?

?

1)
(2)
(3)
(4)

I X 3 94 2021 H faggd &1 Uid afdd Iuce fda-l diz

1.1.21 fHarE
2. 141 fddre
3.1.25 fbar
4162 fode

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=39105] Question Description : dwbv_pg_gp6_eng_2_q2
2[Option ID=39106]
3[Option ID=39107]
4[Option ID=39108]

Sl. No.3
QBID:6201003




The data of installed capacity of electricity produced by different sources of energy (solar,
wind and coal) in two states(X) and (Y) alongwith their respective populations are given for

the years 2011 and 2021 in the table given below. Based on the data, answer the following
questions:

Statewise details of population and installed capacity of electricity

State X State Y
Population . . .
Year mn) Solar(GW)|Wind(GW)|Coal(GW)|Population(mn)|Sclar(GW)|Wind (GW)|Coal (GW)
mn
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

3 I (x) R (v) H ot F Rfis Siet @R, waT ok g g1 safed fiega it wifta
&THT Y SH! SUT-UHT FAEE & U # a0 2011 31T 2021 F fFHe <= &f 7T dferer
# fau g &1 ofiFst F MTUR W T T Ust & I ST

AR SFEEAT SR R0 &g &l &1 faazo

e X AAY
af TS gy | g | siger [oAdeEn| §R | UEd | S
(i )| eerrare)| irmare) | efiomare)| (@fere)| @ fmare) [efimare) | fiemare)

2011, 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

The percentage share of renewable energy in total installed capacity of electricity of the
respective states was maximum for

1. State X, year 2011
2. State Y, year 2011
3. State X, year 2021
4, State Y, year 2021

1)
(2)
(3)
(4)

fdcgd @1 oo T &Hdl H AR &l &1 Wiawa Fafeiiad H 3 foud sifidas o

1. 3099 X, T 2011
2. 99 Y, 98 2011
3. 3199 X, Y 2021
4,309 Y, 34 2021

A W N R

1)
(2)
(3)
(4)

A W N R




1[Option ID=39109] Question Description : dwbv_pg_gp6_eng_2_q3
2[Option ID=39110]
3[Option ID=39111]
4[Option ID=39112]

Sl. No.4
QBID:6201004

The data of installed capacity of electricity produced by different sources of energy (solar,
wind and coal) in two states(X) and (Y) alongwith their respective populations are given for
the years 2011 and 2021 in the table given below. Based on the data, answer the following
questions:

Statewise details of population and installed capacity of electricity

State X State Y
Population . . .
Year mn) Solar(GW)|Wind(GW)|Coal(GW)|Population(mn)|Solar(GW)|Wind (GW)|Coal (GW)
mn
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

3T (x) R (v) H ot F fafis didf @R, va ok g grr safad figga 9t wifa
AT 3T ITST U FEE F HIY F q¢ 2011 3 2021 F ariwe A= & 7 Arferer
# feu MU &1 ST & SMUR W TS T usit F I Sifor:

AR ST SR R fdggd &Hdl &l faazo

I X AT Y

of TN Gr | ued | e (GadEn| 9R | uEd | s
(AT efoarey| e (efemane) | (3Rrae | @fomare) eftemare) efiemare)
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

What is the average of the increase in total installed capacity of electricity through renewable
energy sources in the two states from the year 2011 to the year 20217

1. 10 GW

2.12.5 GW
3.17.1 GW
4.225GW

(1) 1
(2) 2
3) 3
(4) 4




ST et o 2011 8 a¥ 2021 G@ TG FHeil widl & AT © $d wIUd [aggd &ar §
e 91 e 27

1. 10 7R A1

2. 1257 are
3.17.1 7 Are
4,225 A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39113] Question Description : dwbv_pg_gp6_eng_2_q4
2[Option ID=39114]

3[Option ID=39115]
4[Option ID=39116]

Sl. No.5
QBID:6201005

The data of installed capacity of electricity produced by different sources of energy (solar,
wind and coal) in two states(X) and (Y) alongwith their respective populations are given for
the years 2011 and 2021 in the table given below. Based on the data, answer the following
questions:

Statewise details of population and installed capacity of electricity

State X State
Population . . .
Year mn) Solar(GW)|Wind (GW)|Coal(GW)|Population(mn)|Solar(GW)|Wind (GW)|Coal (GW)
mn
2071 50 20 10 40 60 15 08 50
2021 60 28 15 42 63 20 10 55

I (x) IR (v) H St F i it (@R, vaT ok Fraen) IR Safed fiege ¥ wift|
ST S ITDT SUHT- U SEE F Gy F ad 2011 3 2021 F sriwe F4 & 7 arferwr
# 3T 7§ SfiwSl & STUR W TR T Ukt F I ST

AR SHEET AR R gy & & faawm

Il X A Y

of TS gz | uad | wger [wegEn| 9R | U | e
(ﬁ:‘m[iﬂilldld)[JIIJIIdId)[JIIJIIdId)@W)(m(m(m

2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55




Per capita availability of electricity was least in

1. State X, year 2011
2. State Y, year 2011
3. State X, year 2021
4, State Y, year 2021

1)
(2)
(3)
(4)

faggd &1 wid safd Jucsal F9 | ¥ fhed gaas 4z

1.9 X, T 2011
2.0 Y, a¥ 2011
3. 3109 X, Y 2021
4.9 Y, 34 2021

A W N R

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=39117] Question Description : dwbv_pg_gp6_eng_2_q5
2[Option ID=39118]
3[Option ID=39119]
4[Option ID=39120]

Sl. No.6
QBID:6201006

Given below are two statements in the context of cooperative development:

Statement |: Accomodation takes place when we use our exising schemas to make sense of events
in our world.

Statement II: Assimilation occurs when we must change existing schemas to respond to a new
situation.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

(1) 1
) 2
3) 3
(4) 4




T fdem & ded d i gl sy fag e 8

HY - |- GHESH a9 21aT & 98 89 AT g & geredt @ o F@eH & o s faeme
EUREI3 BT TG Hd B

DY - 1| : ATHGIH Y 74 Bial § 9d g a4 U & TgeR J [9gmF Su@rsd o1 T
EFREIECIE]

Iudad dyHEl & aie | Fefaiad Geddl F 9 98 39 g -
1. @Y | 3R 11 GH 981 8l
2. YT AR I GHI Tad g

3. %Y | Tl g, g Py 11 TTad § |
4. @ T T, g I I TR B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39121] Question Description : dwbv_pg_gp6_eng_2_q6
2[Option ID=39122]

3[Option ID=39123]
4[Option ID=39124]

Sl. No.7
QBID:6201007

Which of the following are the video-conferencing tools?
A. Skype

B. Piktochart

C. Blue Jeans Meeting

D. Jabber

E. Mindmeister

Choose the correct answer from the options given below:

1.B, Cand E only
2.B,Cand D only
3.A Cand D only
4. A, D and E only

1) 1
(2) 2
3) 3
(4) 4




FafaRad H 9 @H-®H dfSU-eHEb T 3us 32
A @Y

8. faerare

c. i<l (=) Siig 98

D. WieR

E. AGSMHIRR

i feu 7 fadhedi H U Ugl IR 94 -
1. ®ad B, C ARE
2. %ad B, C 3R D

3. Had A, C 3R D
4.%ad A DIAIRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39125] Question Description : dwbv_pg_gp6_eng_2_q7
2[Option ID=39126]

3[Option ID=39127]
4[Option ID=39128]

Sl. No.8
QBID:6201008

A physics project has been started by the teacher in one of the classes. The students in the project
have been arranged into groups of five members each. Each member of the group is accountable
for the creation of one individual compaonent of a project. After that, the five components of each
group will be assembled together to create a complete project. This is an example of:

1. Jigsaw

2. Problem-based learning
3. Discussion method

4. Play-way learning

(1) 1
(2) 2
(3) 3
(4) 4

Ue 18 - 3G U ®&ll H U Hilds! URalsHl iRy & ¢ | UREieHT H @l &I Uig-uid e
aTcl Sl H Hafeyd faa1 711 ¢ | 9E &1 Ud® 9 [ddl Ue URAieHT (Uieide) & Uh duedh
T & fou IRed! 81 39 915, Id® 94E & Ud Sucd| I Us 9qu] uidieHl &4 & [ o6
1Y SI1S1 S| I8 FEfied & 9§ Pad 3aeiv &7

1. Jazq Wi gu= (E)
2. T S ST
3. =i fafy

4. iel [diY sfferm

1) 1
(2) 2
3) 3
(4) 4




1[Option ID=39129] Question Description : dwbv_pg_gp6_eng_2_q8
2[Option ID=39130]
3[Option ID=39131]
4[Option ID=39132]

Sl. No.9
QBID:6201009

Which of the nurturant effects are related to Inquiry Training Model?
A, Spirit of creativity

B. Improved concept-building strategies

C. Independence of Autonomy in learning

D. Inductive reasoning

E. Scientific Process

Choose the correct answer from the options given below:

1. A B and E only
2.A Cand Eonly
3.B, D and E only
4.B, Cand D only

1) 1

(2) 2

3) 3

(4) 4

FafaRad 7§ 9 ©F ¥ UiNd Uyd g URE0 dled | 96fdd 87

A. GoTHB AT BT HIGT

B. J9d Yol I T0H Tt

C. ST | Wl &1 Waad]

D. NTHATHS dB N

E. 3@ ufdedn

o fEu U fadheal 4 9 98 S g -
1.BaAA, B AR E
2. ®BadA, C3RE

3. ®ad B, DARE
4.%ad B, CARD

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39133] Question Description : dwbv_pg_gp6_eng_2_q9
2[Option ID=39134]

3[Option ID=39135]
4[Option ID=39136]

Sl. No.10
QBID:6201010




Match List | with List I

List | (Instinct) List Il (Emotion Accompaying it)
A. Flight or Escapel|l. Positive Self feeling

B. Self-assertion |Il. Wonder
C. Curiosity IIl. Fear
D. Acquisition IV. Feeling of ownership

Choose the correct answer from the options given below:

T.A-ILB-IV,C-1II,D-1
2ZA-1LB-1I,C-1V,D-1l
S.A-ULB-1,C-1I,D-1V
4 A-1L,B-1l,C-1V,D-1

1) 1

) 2

3) 3

(4) 4

Tt -1 B gt -1 o gAfed st

gl -1 (e gy Gt -11 (e )
A G |. GBRIHS W-H1d
B. T-IATHHYH 1. fawmg

C. Ped I, g

D. STERIgUr V. TaTHed B HIGHT
i feu e fadenl # 9§ 9gl 3w gHU :

TA-ILE-IV,C-l, D-1
2ZA-LB-NL,C-IV, D-1
3.A-ILB-LC-1, D-IV
4A-NLB-1,C-1V, D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39137] Question Description : dwbv_pg_gp6_eng_2_q10
2[Option ID=39138]

3[Option ID=39139]
4[Option ID=39140]

Sl. No.11
QBID:6201011

An example of participant or subject variable can be

1. Time order

2. Recollection

3. Political affiliation of a person
4. Manipulation

1) 1
(2) 2
3) 3
4) 4




ufaurtt stuar favg = &1 A9 & ¥ $H-91 U6 3aev 8 9adl 7

1. GHT AR
2. ¥R

3. foodt =afea &1 IeHiia® dde
4. Fagred

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39141] Question Description : dwbv_pg_gp6_eng_2_qi1
2[Option ID=39142]

3[Option ID=39143]
4[Option ID=39144]

Sl. No.12
QBID:6201012

Interpretation paradox is the term normally used in

1. Historical research

2. Cross-cultural research
3. Content analysis

4. Ethical research

1) 1
(2) 2
3) 3
(4) 4

oRE Rt 9 g g § 9 e war & 9rdt 87

1. UfaeTfae =y
2. R-Yipiad MY
3. Jiddeq fa=eyur
4, it 2y

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=39145] Question Description : dwbv_pg_gp6_eng_2_q12
2[Option ID=39146]

3[Option ID=39147]
4[Option ID=39148]

Sl. No.13
QBID:6201013




Which of the following are adventages of the web-based research?
A. It saves time for the researcher

B. The web is open for participants all the day

C. Data collection is accurate as well as automatic.

D. Remote participants provide rich data.

E. The digital divide does not have any impact on data collection
Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A Dand E only

(1) 1
) 2
3) 3
(4) 4

3g-ATRG Y & FEfEd g T S A Ay &7
A. T8 TUHdl & [0 GG 31 990 P 2
8. UferuTfirgt & fou 39 R & gan war g

C. B SI-GIe0 Gld 3R FaIerd aidl 8l

D. 3% WiayTift Jeaa Sids WaH ®d gl

£, fSfored smmal &1 i@ sl & 9980 IR @i UUE 8! aidl o
o feu U fadeal H U Uel IR 94 -

1.BaAAA, B AR C

2.%dq e, C ARD

3.H9dC, D 3IRE
4. BaAA DARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39149] Question Description : dwbv_pg_gp6_eng_2_q13
2[Option ID=39150]

3[Option ID=39151]
4[Option ID=39152]

Sl. No.14
QBID:6201014




Given below are two statements:

Statement |: In experimental research, we cannot eliminate extraneous factors that influence the
outcome,

Statement II: In survey research, a vast amount of rich and diverse data can be collected.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

EIEEAERE I A
DY - | : Ui Y H §H 34 91d SRS| B [daly- 781 B2 Fdhd g il URUIH B UHIad Hd 5 |
DY - 11 : Fago WY H HR A H HeaH R afay bR & siids Uhd fbT off §dhd g
Il HYAl & 3o H FEitiad el # 9 98l Su g -
1. ®YF | 3R 11 H 981 8
2. YA | 3R 1l G Teid g |

3. @Y 1 Tl g, fog @Y 1 Tad § |
4. Tad T, g I I TE B

A W N B

11
(2) 2
3) 3
(4) 4

1[Option ID=39153] Question Description : dwbv_pg_gp6_eng_2_q14
2[Option ID=39154]
3[Option ID=39155]
4[Option ID=39156]

Sl. No.15
QBID:6201015

Given below are two statements:

Statement |: t-tests can be to test mean differences between two groups.

Statement Il: ANOVA can not compare the differences between group means.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N R




EIERALAE N AR N f
@Y - | - +-TRI&I0T BT YT &f SHEI & drd |19 SRl o TRI&0T & ford fasan off 9 g |
HYF - 11: U T 3 &t T OgE Teat & R B o el BR TP B
e HYAl B HTcle H Ficiad [ddhedl # 9 98l W 9 -

1)
(2)
(3)
(4)

1. @Y | 3R 11 HT 9el 8
2. HY 1 3R 11 SHT TTAd &

3. B HEl 8, [ @Y 11 TTed & |
4. YA | Tad &, g By 1 T8I B

A W N R

1[Option ID=39157] Question Description : dwbv_pg_gp6_eng_2_q15
2[Option ID=39158]
3[Option ID=39159]
4[Option ID=39160]

Sl. No.16
QBID:6201016

Threats to efficient community communications are related to the value of

1)
(2)
(3)
(4)

1. Equity

2. Power

3. Education
4. Freedom

A W N R

HIUGET YHEIAS YdR & Ui doi- 8 H U [ 71 4 Hafid 87

(1)
(2)
(3)
(4)

1. 9ol
2. Tidd
3. Tnan
4, GaAdl

A W N R

1[Option ID=39161] Question Description : dwbv_pg_gp6_eng_2_q16
2[Option ID=39162]
3[Option ID=39163]
4[Option ID=39164]

Sl. No.17
QBID:6201017

In mediated communication, there is a greator preference to consider a/an

1. Unconventional information source
2. Known first information source

3. Known second information source
4. Unknown information source

as credible.




1) 1
(2) 2
(3) 3
(4) 4

Ty gEN § FEiaiad J 9 50 Gy g & i@ a3igdr ¢ ol 87

1. HURURS a1 A
2. 1 UH ol Al
3. S fgaid g1 Jia
4, 3Id a1 i

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39165] Question Description : dwbv_pg_gp6_eng_2_q17
2[Option ID=39166]

3[Option ID=39167]
4[Option ID=39168]

Sl. No.18
QBID:6201018

Which of the following are common classifications of communication?
A. Optics

B. Epistemics

C. Kinesics

D. Vocalics

E. Haptics

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, Dand E only
4.B, D and E only

1) 1
(2) 2
(3) 3
4) 4




FrafaRad # ¥ @H-@H S2I90 & GHF F 60 67
A UHEIT (i)
B. ¥ et (=)
C. T (@ TTG)
D. Wl
£ BiPRT
i< f&T 70 fadedi # 9 981 ST I -
1. @A A, B, C
2. %490 B, C, D

2. ®aAC, D, E
4, HddAB, D, E

1)
(2)
(3)
(4)

A W N R

1[Option ID=39169] Question Description : dwbv_pg_gp6_eng_2_q18
2[Option ID=39170]
3[Option ID=39171]
4[Option ID=39172]

Sl. No.19
QBID:6201019

Given below are two statements:

Statement |: Massline communication was practised by Mahatma Gandhi during the freedom
movement,

Statement II: Massline communication is devoid of any purpose and compounds the anarchic
situation.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =




FY - | : Herd M GR1 WAl Aaed & GRE SH@ G2 ([9-aTe-) YUy &1 WarT fdar T
|

DY - || ; SHBM G2 (A1E-T12H) T FHee=d 8id1 & AR sRoddl ®! fRUfd &1 3R 9¢l edl o
SWad HUAl & H1die H HufeRad fadddl § 4 9el 3w g -

1. BT 1 AR 1 SHT I '

2. YA | AR 11 GFT AT B

3. @Y 1 Tel e, g @Y 11 Tad & |
4. U A ¢, g B I T B

1)
(2)
(3)
(4)

A W N =

1[Option ID=39173] Question Description : dwbv_pg_gp6_eng_2_q19
2[Option ID=39174]
3[Option ID=39175]
4[Option ID=39176]

Sl. No.20
QBID:6201020

Given below are two statements:

Statement |: Some Western views of communication are related to language and its use.
Statement II: In Asia, scholars attach importance to the element of silence in communication.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

BIECAIE AR
HYF - |- TR & Hiad UiEH SPHI0 HT 3R I8S UarT ¥ HE U 21
@ - 11 - TR H, fagH weivn § 99 & 9@ o 9edi ¢d ¢
Iudad Bl B 3o | Faftiad el J 9 58l W g -
1. ®YF | 3R 11 EHT 981 8
2. HYF | 3R Il THI T g

3. U 1Tl g, g Py 11 TTad § |
4. @A T, g I I TR B

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=39177] Question Description : dwbv_pg_gp6_eng_2_q20




2[Option ID=39178]
3[Option ID=39179]
4[Option ID=39180]

Sl. No.21
QBID:6201021

Find the 51% term of the following series :
1 1
12,13-,15,16—,18, ... ....
2 2

1.78
2.87
3.89
4.85

1) 1
(2) 2
3) 3
(4) 4

fufaiad & ¥4 | €1 718 @ & 5191 UG 9dIsu:
1 1

12,13=,15,16—, 18, ... ...
2 2

1.78
2.87
3.89
4.85

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39181] Question Description : dwbv_pg_gp6_eng_2_q21
2[Option ID=39182]

3[Option ID=39183]
4[Option ID=39184]

Sl. No.22
QBID:6201022

In a class of 60 students, the average height of 20 students is x centimeter, the average height of
other 20 students is y centimeter and the average height of the remaining 20 students is z
centimeter. Find the average height of the whole class.

1. (x+y+z)/60 cm
2.30 cm

3. (x+y+2)/20 cm
4. (x+y+z)/3 cm

1) 1
(2) 2
(3) 3
(4) 4




60 faenfial @1 us wan o 20 fqenitial o ofiad Sarg x HEHieR g, g 20 faendal @1 oua $ars
y UeTHIeR § 3R 7Y 20 faefial @t siad Garg z SdiHieR g1 df 9qul oam & faenfial ot siad
G IR IRY

T.(x +y +2)/60 cm

2.30 cm

3.x+y+2)/20cm

4.(x+y+2z)/3cm

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39185] Question Description : dwbv_pg_gp6_eng_2_q22
2[Option ID=39186]

3[Option ID=39187]
4[Option ID=39188]

Sl. No.23
QBID:6201023

Two persons A and B can do a piece of work in 45 and 40 days, respectively. They started their
work together but A left after some days and remaining work was completed by B in 23 days.
Find after how many days did A leave?

1.1
2.10
3.8
4.9

(1) 1
(2) 2
(3) 3
(4) 4

&l Jfad A IR B gl e o1 & HH: 45 3R 40 A § U % I6d B 1 2 U1 S U 1Y
TRY & o1, T A - % &1 916 1 B B18 1631 3R B A 2 &/ &l 23 & & g faan
AF fodm et a1e o 31 3is g ure

1.1
2.10
3.8
4.9

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39189] Question Description : dwbv_pg_gp6_eng_2_q23
2[Option ID=39190]

3[Option ID=39191]
4[Option ID=39192]

Sl. No.24
QBID:6201024




A man deposited Rs. 1.0 lakh in his bank account and earned a profit of Rs. 25,000 @5% simple
interest per annum. Find out the time period for which the money deposited by the man
remained in the bank.

1.3 years
2.5 years
3.4 years
4.7 years

1)
(2)
(3)
(4)

A W N R

U Sfad = 31U §p Wil H 1.0 TG . ST o1 IR aifiep 5 W= Bl QYR 3416 &3 b 3FER
25,000 %. T QY Hfoid [T df 9a15T & 39 afda- a1 THaEy 9@ d@ o Y0 o ] @
@l 4T

1.394
2,594
3.439
4774

1)
(2)
(3)
(4)

A W N R

1[Option ID=39193] Question Description : dwbv_pg_gp6_eng_2_q24
2[Option ID=39194]
3[Option ID=39195]
4[Option ID=39196]

Sl. No.25
QBID:6201025

A fruit seller sells 80% of the fruits he has with him . Out of the remaining fruits he throws away
20 % of them only. Next day he sells 50 % of the leftover fruits from the previous day and throws
away the rest. What total percentage of the fruits does the seller throw?

1.15%
2.12%
3. 18%
4, 20%

1)
(2)
(3)
(4)

TS B fdshdl 304 80 U= Bal @i fash! &l & 3R 29 Hal & bad 20 Ua=d & $& ol 8l
I8 3Ta &7 FUed 59 & 99 sU Bal & § 50 Uf=id @1 99 eaT & 3R 29 Bl & e oar gl &
T a1 31U Bal B $d [PaT Tiasd B odl &7

1. 15 Wid=rd
2. 12 ufa=d
3. 18 Ufa=d
4. 20 "fa=d

A W N R




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39197] Question Description : dwbv_pg_gp6_eng_2_q25
2[Option ID=39198]

3[Option ID=39199]
4[Option ID=39200]

Sl. No.26
QBID:6201026

Which informal fallacy is committed in the following argument . "The quality of higher education
in our country has been declining for years. Therefore we can conclude beyond doubt that
university teachers are not doing their job these days"?

1. False cause

2. Slippery slope

3. Hasty Generalisation
4. Straw Man

1) 1
(2) 2
3) 3
(4) 4

FofaRad § @1 sA@IRE db-a/ ¢ - "SR o¥ § aul 4 I & &1 o Rl &1 @1 5
ooy, 79 FHee w0 U frsad fara gaa & & fayfdaray & e 31 61 s o T8l e 6
g7

1. e R
2. Thyaa-gad gaH (‘AU W)
3. HidgR! grEiE

4. 919 Yqdl (HA)

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39201] Question Description : dwbv_pg_gp6_eng_2_q26
2[Option ID=39202]

3[Option ID=39203]
4[Option ID=39204]

Sl. No.27
QBID:6201027

If the proposition-"No mammals are aquatic animals” is given as true, then which of the following
propositions can be directly inferred from it 7

1. Some mammals are not aquatic animals.
2. Some aquatic animals are mammals.

3. Some mammals are non-animals

4. Some non-mammals live in water

(1) 1
) 2
3) 3
(4) 4




Ui 38 UiaRit - iy 1 YR Sclid Uy Al o - & 90 & w4 H feg1 741 ¢ ol g4 (gfeiad
H U ®Il Ufawita &1 Wes U U SHH ol o dohdl 57

1. T WHYR], 9o U T8l &

2. S wdd UF], WHUR &

3. T8 WHYR], TR-U 8

4. % IR-THYR] & ¥ a9 & g

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39205] Question Description : dwbv_pg_gp6_eng_2_q27
2[Option ID=39206]

3[Option ID=39207]
4[Option ID=39208]

Sl. No.28
QBID:6201028

Which of the following statements are logically equivelent?
A. some dogs are not aggresive animals.

B. some dogs are aggresive animals.

C. some non-dogs are aggresive animals.

D. some non-aggresive animals are not non-dogs.

Choose the correct answer from the options given below:

1. A B and C only
2. A and Conly
3. A and D only
4.B and C only

(1) 1
(2) 2
3) 3
(4) 4

Fafciad 9 € @14 HyA difhd ©U ¥ 5974 &7
A. TS T ATHHD U Tl &
B. @ Tl HMHHS U g
C. $S TR-Tdl MTHHD U 3
D. TS TR-ATHMS UF] R-& Ta1 &
e T e H A WS I -
1. A A, B 3R C
2. Bad A R C

3. HIAA AR D
4. HAAB 3R C

1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=39209] Question Description : dwbv_pg_gp6_eng_2_q28
2[Option ID=39210]
3[Option ID=39211]
4[Option ID=39212]

Sl. No.29
QBID:6201029

Which of the following statements are contrary to each other?
A. All objects are perishable.

B. Some objects are perishable.

C. Some objects are not perishable.

D. No objects are perishable.

Choose the correct answer from the options given below:

1.Cand D only
2. A and D only
3.B and D only
4. A and Conly

1) 1
(2) 2
3) 3
(4) 4

FfaRad # 9 oY Y U555 & [audid 87

A GHI TRU AR B

B. BT a5y TR 2|

C. $T el TR T &

D. @13 M e TR TS B

i< f&u U fadeal 5 4 981 I g -
1.®ad C AR D
2.59d A AR D

3. HAAB ARD
4. BadA AR C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39213] Question Description : dwbv_pg_gp6_eng_2_q29
2[Option ID=39214]

3[Option ID=39215]
4[Option ID=39216]

Sl. No.30
QBID:6201030




When | ask my friend for my way about his residence over the phone, which of the following
instruments of knowledge is used by me to hear and understand what my friend says, as per
classical Indian school of logic(Nyaya)?

1. Perception (Pratyaksa)

2. Inference (Anumama)

3. Postulation (Arthapatti)
4. Verbal testimony (Sabda)

OR!
(2) 2
3) 3
(4) 4

A 99 BH W U 73 U SUd A R oH & 07 & 9 3 031 df YR dH3Rd & ™
™ & HTER T 07 A ol &g, 39 YA IR 9HeH & fau 3R gR1 Hafaied § 9 99 & 6y
e @1 JUTT fohal T/

1. Udal
2. S
3. YO
4, Tag

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39217] Question Description : dwbv_pg_gp6_eng_2_q30
2[Option ID=39218]

3[Option ID=39219]
4[Option ID=39220]

Sl. No.31
QBID:6201031

Which of the following applications A-C are built on top of open-source digital platforms?
A. PHP

B. WinRAR

C. Digilocker

Choose the correct answer from the options given below:

1. A and B only
2.Aand Conly
3.B and C only
4.4 Band C

(1)1
(2) 2
(3) 3
(4) 4




A Y ¢ 9@ 68 T Faieiad g @EeneE 5 9 F ged-did sfied wewbH & 2 W)
a8
A Ul Tg Ui (PHP)
B. [ R (WinRAR)
C.ﬁ"ﬁﬂ?ﬁﬁ(Digilocker}
= fu 70 fgdenl § @ 9dl IR g4 -
1.Had A AR B
2. Bad A AR C

3. ®WAAB 3R C
4.A B3R C

1)
(2)
(3)
(4)

A W N R

1[Option ID=39221] Question Description : dwbv_pg_gp6_eng_2_q31
2[Option ID=39222]
3[Option ID=39223]
4[Option ID=39224]

Sl. No.32
QBID:6201032

Given below are two statements with reference to Web 3.0:

Statement I: Web 3.0 is an interactive web and its greatest virtue is the democratization of content
production.

Statement II: Apple’s Siri, which can summarise large amount of information into knowledge and
useful actions for people, is an example of Web 3.0 application.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

BERAGIE AR
T - | : 39 3.0 I HUTED 34 & SR SHDT garad 01 a9y g FHI ST dddariaxul gl

T - 1| : Td @1 IR (Sir) 99 3.0 TR @1 Ud 3alex g, ol i & [0 Ga-l @1 ged Jr:
DI 4 R IugnT fobarsl & ¥4 § GRag & 95dl ol

Iudad dyEl & aie | FgfaRad fGeddl F 9 98 3o g -
1. YT | 3R 11 THT G B
2. YT AR I AT HTIE

3. FYT | 9d &, A B 1| T g
4. BYT | 3T B, TfcpT HYT 11 T B

A W N R




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39225] Question Description : dwbv_pg_gp6_eng_2_q32
2[Option ID=39226]

3[Option ID=39227]
4[Option ID=39228]

Sl. No.33
QBID:6201033

Given below are two statements:

Statement |: Vivaldi is a web search engine.

Statement II: Microsoft Bing is a web browser.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
() 2
3) 3
(4) 4

BIERALAIEN A

HY - | : fqarcS! U 99 T S g |

FYF - || : AIEHEITE @7 UP 96 FeoR ol

I HYA B 3G H FEieiad [eedl # 8 98l 3w 94 -
1. Y1 3R 11 SHI G B
2. BYA | AR 1 G SEA G

3. YT | 9d §, dfth dYA 11 3T B
4. Y | 35T B, A HYF 1 T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39229] Question Description : dwbv_pg_gp6_eng_2_q33
2[Option ID=39230]

3[Option ID=39231]
4[Option ID=39232]

Sl. No.34
QBID:6201034

The terms 'Maze, Petya and Wannacry' mentioned in the news over the last few years are related
to

1. Mobile Apps
2. Crypto-Currency
3. Cyber Attacks
4. Virtual Reality

(1) 1




) 2
3) 3
(4) 4

W@Hﬁﬁ@aﬁﬁ@ﬁaﬁﬁﬁa (Maze), Ter (Petya) Gﬁ?aﬂl—ﬁﬁ% {Vanna Cry) Fafafaa o
T fpod gefiq &7

I GIE R
2. frpt @
2. HIgE g9
4. YT Tt

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39233] Question Description : dwbv_pg_gp6_eng_2_q34
2[Option ID=39234]

3[Option ID=39235]
4[Option ID=39236]

Sl. No.35
QBID:6201035

National Coordinators of Swayam have been appointed in order to ensure that best quality
contents are developed and disseminated. In this context, which twe of the following are
corrected matched?

A. AICTE - Engineering Education

B. CEC - Under Graduate Education

C. NCERT - Teacher Training Programmes

D. UGC - Non-technical Post Graduate Education
Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3. A and D only
4.B and D only

(1) 1
(2) 2
(3) 3
(4) 4




Tatan oraagut fvgasg & fHafor iR TeR B Agfi ot s 1 su e |, Rofafsa e sm 3
<l g Wl gHfd 87

A TS 91 1S - afimitiet fien
B. TS 4l - siftraras fuan
C. T Y3 3R 2 - g ufdiem srimy
D. g ol Tl - IR dd-1o! Wiadae 20af
i< feu e faweal 5 § 981 IR 9 -

1. Pad A 3R B

2.5aaB R C

3. AT A R D
4.%ad B 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39237] Question Description : dwbv_pg_gp6_eng_2_q35
2[Option ID=39238]

3[Option ID=39239]
4[Option ID=39240]

Sl. No.36
QBID:6201036

Match List | with List I

List | (Water Pollutants ) |List Il (Examples)
A. Inorganic chemicals . lodine

B. Organic chemicals Il. Detergents

C. Radioactive materials |lll. Parasites

D. Pathogens IV. Salts

Choose the correct answer from the options given below:

1.LA-L,B-IN,C-1LD-H
2ZA=ILB<LEC-. D=V
3.A-LB-IV,C-I,D-IN
4 A-IV,B-I,C-1,D-1l
(1)
(2)

(3)
(4)

A W N R




Tt -1 B gt -1 o gAfed st

gl -1 (A Ugue) el -1 (SarE)
A, BTEAD THEA |, HATEH

B. BIEH® LT |, T&T®

c. Isaryr arEh I1I. TR

D. IFTHE® WASG L

Hid feu e fadeal # 9§ 98l 3T gHU :

TA-ILE-IV,C-1, D-1l
2ZA-ILB-1LC-1, D-IV
3.A-LBE-IV,C-1l, D-11
4A-IV,B-I,C-1, D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39241] Question Description : dwbv_pg_gp6_eng_2_q36
2[Option ID=39242]

3[Option ID=39243]
4[Option ID=39244]

Sl. No.37
QBID:6201037

Which of the following gases has maximum Global Warming Potential (GWP)?

1. Chlorofluorocarbans (CFCs)
2. Carbon dioxide(CO3)

3. Sulphur hexafluoride(SFg)
4, Methane (CHa)

(1) 1
() 2
(3) 3
(4) 4

fFraffad § 9 f5g 19 2 sfiead e du= & (o ss<g @) 27

1. TRITARI Sre-4 (I TF )
2. ®EA BT5 AEFES (H13l,)

3. JoBX B TIRTS S (UF Uhy)
4. Y (@ Ty

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39245] Question Description : dwbv_pg_gp6_eng_2_q37
2[Option ID=39246]

3[Option ID=39247]
4[Option ID=39248]

Sl. No.38
QBID:6201038




Identify the health affects related to Noise pollution

A. Speech interference

B. Hearing loss

C. Hypertension

D. Respiratory disease

E. Insemnia

Choose the correct answer from the options given below:

1. A B and E only
2. A, B, Cand D only
3.ABCDandE
4. A, B, Cand E only

(1) 1
) 2
3) 3
(4) 4

a1 TguuT ¥ 4l W gYTE &1 Ug9H Sifae:
A. dTUI G

B. /@01 g9

C. 3= aaa

D. 4T I

£ 2T I

il feu e famel 5 4 9 SR A -

1.BaAA, B HRE
2.PdAA B, C HR D
3.A B C DIRE
4. Had A, B, C AR E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39249] Question Description : dwbv_pg_gp6_eng_2_q38
2[Option ID=39250]

3[Option ID=39251]
4[Option ID=39252]

Sl. No.39
QBID:6201039




Match List | with List Il

List | (Solar energy system)|List Il (Function)

A. Solar Ovens l. Drying

B. Solar Ponds IIl. De-salination of water
C. Solar Stills ll. Cooking

D. Solar Kilns IV. Producing hot water

Choose the correct answer from the options given below:

T.A-NL.B-N.C-LD-1
2ZA-N.B-V,.C-ILD-1I
3.3A-IV,B-IIl,C-1I,D -1
4 A-IV,B-II,C-1,D-1

1) 1

(2) 2

3) 3

(4) 4

Tl -1 &1 Gl -1l ¥ GHfed $ifoe :

Gl -1 (R Sl guTe) T 11 (T

A. IR Tedl . g

B.UR &S II. e @l AaURIgd BT
c. IR e I1l. HISH U@

D. YR YT V. TTH STl Iead BT
= feu e fadwent § 9 81 IR 9T

TA-ILB-IV,C-1, D-1I
2ZA-NLB-IV,C-1l, D-1
.A-IVB-ILC-IL D-1
4A-IV,B-ILC-1, D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=39253] Question Description : dwbv_pg_gp6_eng_2_q39
2[Option ID=39254]
3[Option ID=39255]
4[Option ID=39256]

Sl. No.40
QBID:6201040




Which of the following are core missions of National Action Plan on Climate Change?
A. National Solar Mission

B. National Mission on dessert

C. National Water Mission

D. National mission for sustainable agriculture

D. National Mission on Indian Ocean

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.A Cand D only
4.C, Dand E only

(1) 1
) 2
3) 3
(4) 4

fFrafafed 3 9 oo Sy uRkad- d94 agia o g @ S B e
A. BT R (Gor) e
B. e R0 YaHT agia faee
C. PTG Wi e
D. Hoid PiY Haiell ATy e
£, 6 HEMFR Tedl P e
i<l feu e fadeal & 9 W6l SR 9 -
1.HaAA, B 3R C
2.%ae B, C AR D

3. HaA A, C3RD
4.HaAC, DARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39257] Question Description : dwbv_pg_gp6_eng_2_q40
2[Option ID=39258]

3[Option ID=39259]
4[Option ID=39260]

Sl. No.41
QBID:6201041




The creation of the first ever separate ministry of Skill Development and Enterpreneurship was
announced by

1. Narendra Modi

2. A. B. Vajpayee

3. P. V. Narasimha Rao
4. Manmohan Singh

1) 1
(2) 2
3) 3
(4) 4

FrofaRad § O feg 3 o faem g Iamiaa & fon 9duys U gud d3red §9H &1 9o o
4z

1. 9% AIGT

2. UA. araudt

3. M8 Rigmrva
4. 7 8

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39261] Question Description : dwbv_pg_gp6_eng_2_q41
2[Option ID=39262]

3[Option ID=39263]
4[Option ID=39264]

Sl. No.42
QBID:6201042

The full form of SAMVAY is -

1. School Assessment Matrix for Vocational Analysis of Youth

2. Skill Assessment Matrix for Vocational Advancement of Youth

3. Skill Accreditation Matrix for Vocational Advancement of Youth
4. School Assessment Matrix for Vocational Advancement of Youth

(1) 1
(2) 2
3) 3
(4) 4

EUHAUAE ST EU 8
1. ¥pd UOgHe AT B AihRHd TAIad S gy

2. pd tugHe Hicay BR dibeHd USdigHe 3K gy
3. Rnd UshsieRH HidHR IR dihe-d UsdigHe 3w gy
4. Tpd UHgHe HiZe BIR didbYHd UsaigHe 1% gy

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39265] Question Description : dwbv_pg_gp6_eng_2_q42
2[Option ID=39266]

3[Option ID=39267]

4[Option ID=39268]
|




Sl. No.43
QBID:6201043

The Aim of NEP 2020 is to increase the Gross Enrolment Ratio in higher education including
Vocational education from 26.3 % in (2018) to

1. 50 % by 2035
2.35% by 2030
3. 40 % by 2030
4. 60 % by 2030

(1)1
(2) 2
(3) 3
(4) 4

Pty e Hifd (TS, 2020 1 WL € o S 18 Higd 3= R8T H ¥Ha AHie 3
(2018 T) 26.3% ¥ §¢1 B2 9 P [od1 ou|

1. 2035 dd 50%
2. 2030 ddv 35%
3. 2030 d& 40%
4. 2030 dd 60%

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39269] Question Description : dwbv_pg_gp6_eng_2_q43
2[Option ID=39270]

3[Option ID=39271]
4[Option ID=39272]

Sl. No.44
QBID:6201044

Match List | with List Il

List | List I
Discipline/Subject Ancient Name
A. Logic . Nirukta

B. Interpretation . Anviksiki

C. Etymology Il. Kalpa

D. Ritual IV. Mimamsa

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-1
2ZA-ILB-IV,C-1ILD-1
3.A-IVB-ILC-1L,D-1I
4A-NLB-IV,C-1,D-1

(1) 1
() 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

g -1 (famm) g -1 (9T )
A BRI | FEw

8. Faaq 11, ff=afaeret

C. ogdfd fagm Il B

D. HHBIS V. HiHE

Hid feu e fadeal # 9§ 98l 3T gHU :

TA-ILE-IV,C-1, D-1l
2ZA-IL,B-IV,C-1ll, D-1
3A-IV,B-ILC-1, D-1l
4 A-NLB-IV,C-1I, D-1

1)
(2)
(3)
(4)

A W N =

1[Option ID=39273] Question Description : dwbv_pg_gp6_eng_2_q44
2[Option ID=39274]
3[Option ID=39275]
4[Option ID=39276]

Sl. No.45
QBID:6201045

Given below are two statements:

Statement |: Universities set up by the act of incorporation in 1857 were affiliating universities for
distant geographical areas.

Statement Il: No geographical limits to the areas of affiliation were indicated for the universities
set up by the act of incorporation in 1857.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39277] Question Description : dwbv_pg_gp6_eng_2_q45
2[Option ID=39278]

3[Option ID=39279]
4[Option ID=39280]
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Read the following passage and answer questions

Status quo is easily exploited. One of the causes of status quo bias is a lack of attention. Many
people adopt what we call the “Yeah, whatever®, heuristic. A good illustration is the carry over
effect in television viewing. Network executives spend a lot of time working on scheduling because
they know that a viewer who starts the evening on a particular network channel tends to stay
there. Since remote controls have been pervasive in this country for decades, the actual 'switching’
costs in this context are literally one thumb press. But when one show ends and the next one
comes on, a surprisingly high number of viewers, implicitly say Yeah, whatever' and keep watching.
Nor is the reader of a particular magazine the only victim of automatic renewal of magazine
subscription. Those who are in charge of circulation know that when renewal is automatic, and
when people have to make a phone call to cancel, the likelihood of renewal is much higher than it
is when people have to indicate that they actually want to continue to receive the magazine. The
combination of loss aversion with mindless choosing implies that if an opinion is designated as the
“default”, it will attract a large market share. In many contexts defaults have some extra nudging
power because consumers may feel, rightly or wrongly, that default options come with an implicit
endorsement from the default setter, be it the employer, government, or TV scheduler. For this and
other reasons, setting the best possible defaults will be a theme to explore by scholars.

FrafafEa e 1 7y ok v & I fifvm:
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One of the causes for status quo bias is

1. Psychological disability
2. Market pressure

3. Ego of individuals

4. Attention deficit

1) 1
() 2
3) 3
(4) 4
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(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=39281]
2[Option ID=39282]

3[Option ID=39283]
4[Option ID=39284]

Question Description : dwbv_pg_gp6_eng_2_q46
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Read the following passage and answer questions

Status quo is easily exploited. One of the causes of status quo bias is a lack of attention. Many
people adopt what we call the “Yeah, whatever®, heuristic. A good illustration is the carry over
effect in television viewing. Network executives spend a lot of time working on scheduling because
they know that a viewer who starts the evening on a particular network channel tends to stay
there. Since remote controls have been pervasive in this country for decades, the actual 'switching’
costs in this context are literally one thumb press. But when one show ends and the next one
comes on, a surprisingly high number of viewers, implicitly say Yeah, whatever' and keep watching.
Nor is the reader of a particular magazine the only victim of automatic renewal of magazine
subscription. Those who are in charge of circulation know that when renewal is automatic, and
when people have to make a phone call to cancel, the likelihood of renewal is much higher than it
is when people have to indicate that they actually want to continue to receive the magazine. The
combination of loss aversion with mindless choosing implies that if an opinion is designated as the
“default”, it will attract a large market share. In many contexts defaults have some extra nudging
power because consumers may feel, rightly or wrongly, that default options come with an implicit
endorsement from the default setter, be it the employer, government, or TV scheduler. For this and
other reasons, setting the best possible defaults will be a theme to explore by scholars.

FrafafEa e 1 7y ok v & I fifvm:

qUIRYTT &1 YT Y N gial ¢ | ZuUiiyfd 9aiig & Ud &R g Wyl & AHE| 3-d arl 9
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SERd oldl g1 Tifch] 9id U PUHH YHIW Bidl & SR GU Y Bidl g, i S1gioHd ¥4 U aRidl
@1 HRI WA sfouad U d 7, 9 W g dedl 8 R ¢EHl 9l 3@dl gl HR By uBis f92y &1
qed 2t ufi@T Med! & Wa: TG0 BT dal [WHR el aidl 8| UOR & TURN 94 & o afe
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g dl SR &1 TS 931 oT1 39 3R Meitd g 59 die 4 fSPe i i@ Sd g & =0 o
D1 Hdl 81 B YaHl | [Shiee @l 2gld &I sHfdRad g fd Al 8 Fife 92l a1 71ad, 9gd 9R
JUHIEI I8 HeYd Bd & B [SPIee fddhed &I [3Wice MYRU & a1 @1, 98 a8 i g,
WHR Hydl Td R SAFHH 00 B g, e Fid 81 39 ok o sRul ¥ fagHf & fag
Tatan ud fewiee FuRo & Tawon &1 T fawg g

The cost of switching TV remote control is

1. Enormous

2. Time-tested

3. Mere thumb press
4. Moderate

1) 1
() 2
3) 3
(4) 4




<1 i RAle deid W RaRR & arrd -----

b —

GING A

(1) 1
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1[Option ID=39285]
2[Option ID=39286]

3[Option ID=39287]
4[Option ID=39288]
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Read the following passage and answer questions

Status quo is easily exploited. One of the causes of status quo bias is a lack of attention. Many
people adopt what we call the “Yeah, whatever®, heuristic. A good illustration is the carry over
effect in television viewing. Network executives spend a lot of time working on scheduling because
they know that a viewer who starts the evening on a particular network channel tends to stay
there. Since remote controls have been pervasive in this country for decades, the actual 'switching’
costs in this context are literally one thumb press. But when one show ends and the next one
comes on, a surprisingly high number of viewers, implicitly say Yeah, whatever' and keep watching.
Nor is the reader of a particular magazine the only victim of automatic renewal of magazine
subscription. Those who are in charge of circulation know that when renewal is automatic, and
when people have to make a phone call to cancel, the likelihood of renewal is much higher than it
is when people have to indicate that they actually want to continue to receive the magazine. The
combination of loss aversion with mindless choosing implies that if an opinion is designated as the
“default”, it will attract a large market share. In many contexts defaults have some extra nudging
power because consumers may feel, rightly or wrongly, that default options come with an implicit
endorsement from the default setter, be it the employer, government, or TV scheduler. For this and
other reasons, setting the best possible defaults will be a theme to explore by scholars.

FrafafEa e 1 7y ok v & I fifvm:
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@1 HRI T fouad U d 7, 9 Wi g dedl 8 R ¢EHl 9l 3@dl gl R Big uBis! f92y &l
qed 2t ufi@T Med! & Wa: TG0 BT dal [WHR el aidl 8| UOR & TURN 94 & o afe
TR0 Wa: BT & 3R fS T B 38 TE B & (A8 BiF BT USdl & df G gRT 98 gfd e
S B qo |, {6 d avad § oB@T o1 IR @ 918d &, JaieRl @1 SHIaH $al D gl g
o 3R AIIRaTE! © g7 & I @1 3% § o aic U Hd ®i “fSWhiee” & &0 H UeAnad foar mar
g dl SR &1 TS 931 oT1 39 3R Meitd g 59 die 4 fSPe i i@ Sd g & =0 o
D1 Hdl 81 B YaHl | [Shiee @l 2gld &I sHfdRad g fd Al 8 Fife 92l a1 71ad, 9gd 9R
JUHIEI I8 HeYd Bd & B [SPIee fddhed &I [3Wice MYRU & a1 @1, 918 a8 i 3,
WHR Hydl Td R SAFHH 00 B g, e Fid 81 39 ok o sRul ¥ fagHf & fag
Tatan Yud fewiee FuRo &1 Tawon &1 te fawg g

The carry-over effect in relation to television means

1. stop watching it

2. continue watching it

3. switch over to another medium
4. complain to network executives

1) 1
(2) 2
3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39289] Question Description : dwbv_pg_gp6_eng_2_q48
2[Option ID=39290]

3[Option ID=39291]
4[Option ID=39292]
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Read the following passage and answer questions

Status quo is easily exploited. One of the causes of status quo bias is a lack of attention. Many
people adopt what we call the “Yeah, whatever®, heuristic. A good illustration is the carry over
effect in television viewing. Network executives spend a lot of time working on scheduling because
they know that a viewer who starts the evening on a particular network channel tends to stay
there. Since remote controls have been pervasive in this country for decades, the actual 'switching’
costs in this context are literally one thumb press. But when one show ends and the next one
comes on, a surprisingly high number of viewers, implicitly say Yeah, whatever' and keep watching.
Nor is the reader of a particular magazine the only victim of automatic renewal of magazine
subscription. Those who are in charge of circulation know that when renewal is automatic, and
when people have to make a phone call to cancel, the likelihood of renewal is much higher than it
is when people have to indicate that they actually want to continue to receive the magazine. The
combination of loss aversion with mindless choosing implies that if an opinion is designated as the
“default”, it will attract a large market share. In many contexts defaults have some extra nudging
power because consumers may feel, rightly or wrongly, that default options come with an implicit
endorsement from the default setter, be it the employer, government, or TV scheduler. For this and
other reasons, setting the best possible defaults will be a theme to explore by scholars.

FrafafEa e 1 7y ok v & I fifvm:
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SERd oldl g1 Tifch] 9id U PUHH YHIW Bidl & SR GU Y Bidl g, i S1gioHd ¥4 U aRidl
@1 HRI T fouad U d 7, 9 Wi g dedl 8 R ¢EHl 9l 3@dl gl R Big uBis! f92y &l
qed 2t ufi@T Med! & Wa: TG0 BT dal [WHR el aidl 8| UOR & TURN 94 & o afe
TR0 Wa: BT & 3R fS T B 38 TE B & (A8 BiF BT USdl & df G gRT 98 gfd e
S B qo |, {6 d avad § oB@T o1 IR @ 918d &, JaieRl @1 SHIaH $al D gl g
o 3R AIIRaTE! © g7 & I @1 3% § o aic U Hd ®i “fSWhiee” & &0 H UeAnad foar mar
g dl SR &1 TS 931 oT1 39 3R Meitd g 59 die 4 fSPe i i@ Sd g & =0 o
D1 Hdl 81 B YaHl | [Shiee @l 2gld &I sHfdRad g fd Al 8 Fife 92l a1 71ad, 9gd 9R
JUHIEI I8 HeYd Bd & B [SPIee fddhed &I [3Wice MYRU & a1 @1, 918 a8 i 3,
WHR Hydl Td R SAFHH 00 B g, e Fid 81 39 ok o sRul ¥ fagHf & fag
Tatan Yud fewiee FuRo &1 Tawon &1 te fawg g

Default options become powerful when

1. people reject offers.

2. people do not know what to select.
3. people want to switch default option.
4. default setters endorse them.

1) 1
() 2
3) 3
(4) 4
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(1) 1

(2) 2

(3) 3
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1[Option ID=39293] Question Description : dwbv_pg_gp6_eng_2_q49
2[Option ID=39294]

3[Option ID=39295]
4[Option ID=39296]
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Read the following passage and answer questions

Status quo is easily exploited. One of the causes of status quo bias is a lack of attention. Many
people adopt what we call the “Yeah, whatever®, heuristic. A good illustration is the carry over
effect in television viewing. Network executives spend a lot of time working on scheduling because
they know that a viewer who starts the evening on a particular network channel tends to stay
there. Since remote controls have been pervasive in this country for decades, the actual 'switching’
costs in this context are literally one thumb press. But when one show ends and the next one
comes on, a surprisingly high number of viewers, implicitly say Yeah, whatever' and keep watching.
Nor is the reader of a particular magazine the only victim of automatic renewal of magazine
subscription. Those who are in charge of circulation know that when renewal is automatic, and
when people have to make a phone call to cancel, the likelihood of renewal is much higher than it
is when people have to indicate that they actually want to continue to receive the magazine. The
combination of loss aversion with mindless choosing implies that if an opinion is designated as the
“default”, it will attract a large market share. In many contexts defaults have some extra nudging
power because consumers may feel, rightly or wrongly, that default options come with an implicit
endorsement from the default setter, be it the employer, government, or TV scheduler. For this and
other reasons, setting the best possible defaults will be a theme to explore by scholars.

FrafafEa e 1 7y ok v & I fifvm:
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TqE SO § ford 29 o, o oft 81 orya ofd @ed & Toiifae Bried o @1 JEfy gy
% 3S] 3G1E0 3| et PHGR] BHHH &1 G99 JRUT R S1h] 999 T1d & a0iid d o d 8
& o oo ol U@ -ead o0 U AT W B LA BT & d¢ dof o edl ol df Rk
el 39 33 F P! U e @ €, 39 Yoo F araa # Rt & U 59 U Si[e1 ga M AH @
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g dl SR &1 TS 931 oT1 39 3R Meitd g 59 die 4 fSPe i i@ Sd g & =0 o
D1 Hdl 81 B YaHl | [Shiee @l 2gld &I sHfdRad g fd Al 8 Fife 92l a1 71ad, 9gd 9R
JUHIEI I8 HeYd Bd & B [SPIee fddhed &I [3Wice MYRU & a1 @1, 98 a8 i g,
WHR Hydl Td R SAFHH 00 B g, e Fid 81 39 ok o sRul ¥ fagHf & fag
Tatan ud fewiee FuRo & Tawon &1 T fawg g

The passage is a deconstruction of

1. The status quo bias and the issue of default options
2. The psychological exploitation of network executives
3. Careful selection of magazines

4. Default options not attracting the market share

1) 1
() 2
3) 3
(4) 4
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1[Option ID=39297] Question Description : dwbv_pg_gp6_eng_2_q50
2[Option ID=39298]
3[Option ID=39299]
4[Option ID=39300]

Paper II : 5-Sociology

Sl. No.1
QBID:5001

The First wave of feminism was synonymous with:

1. ‘Me-too" movement.

2. 1960's Civil Rights Movement.

3. Queer Movement.

4. Women's Suffragette Movement.

1)
(2)
(3)
(4)
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1[Option ID=38701] Question Description : dwbv_pg_scy_eng_2_q1
2[Option ID=38702]
3[Option ID=38703]
4[Option ID=38704]

Sl. No.2
QBID:5002

Who has written the book Who Governs?

1. Domhoff

2. Robert Dahl
3. Lasswell

4. Reisman

1) 1
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(1) 1

(2) 2

3) 3
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1[Option ID=38705] Question Description : dwbv_pg_scy_eng_2_q2
2[Option ID=38706]

3[Option ID=38707]
4[Option ID=38708]

Sl. No.3
QBID:5003

Who has written the book Women's Role in Economic Development?

1. Ester Boserup

2. Judith Butler

3. Martha Nussbaum
4. Ann Oakley

(1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=38709] Question Description : dwbv_pg_scy_eng_2_q3
2[Option ID=38710]

3[Option ID=38711]
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Match List | with List 11

List |

List 11

Models of Urban Ecology

Proponents of Models

A. Concentric Zone Model

l. Homer Hoyt

B. Sector Model

IIl. Harris and Ullman

C. Multiple-nuclei Model

lIl. Amos Howley

D. Ecological Analysis

IV. Burgers

Choose the correct answer from the options given below:

T.A-ILB-LC-1,D-1V
2ZA-ILB-NL,C-IV,D-1
A-LB-ILC-I,D-1IV
4A-IV,B-LC-1I,D-1I

1)
(2)
(3)
(4)

Tl -1 & gt -1l | gHfed st -

A W N R

Tl -| TR uRRUfa®! &1 Uy gl -1l Uy & Uidurad
A Dbz 3i=d Uy . PR BITe

B. & UIeU I1. efeg 3T 3

C. 9§ b= Uy IIl. TH gl

D. TIRFRYTa® g fawemm IV, g

o fGu U fadeat & 9§ 98l S g :

TA-ILB-LC-1Il, D-IV
2ZA-IL,B-1L,C-1V, D-1
A-LB-ILC-1, D-IV
4A-IV,B-L.C-1Il, D-N

1)
(2)
(3)
(4)

A W N R

1[Option ID=38713]
2[Option ID=38714]
3[Option ID=38715]
4[Option ID=38716]

Question Description : dwbv_pg_scy_eng_2_q4
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Match List | with List 11

List | List 11

Terminologies Used by the theorist

A. Governing elite|l. Marx

B. Ruling class II. Pareto

C. Veto group 1l Floyd Hunter

D. Top leaders  |IV. Riesman

Choose the correct answer from the options given below:

T.A-LE-ILC-U,D-1V
2ZA-ILB-1LC-IV,.D-1I
A-NLB-IV,C-1,D-1
4A-IV,B-LC-1I,D-1I

1) 1

2) 2

(3) 3

4) 4

Il -1 @ gl -1l Y gHfed Sifae :

gl -1 Fearaai Tl -1 FgiddR gR1 wgad fban mar
A DY AHSE T | JE

B. XD ol II. Tl

C. diel 9g Ill. TS g2
D. ¥ =T (@] dis4) v, A
Hid feu U fadenl # 9§ 98l 3w gHU :

TA-LE-ILC-H, D-IV
2ZA-ILB-1LC-IV, D-1I
3.A-ILB-IV,C-1, D-1I
4A-IV,B-I.C-1l, D-1I

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38717] Question Description : dwbv_pg_scy_eng_2_q5
2[Option ID=38718]

3[Option ID=38719]
4[Option ID=38720]
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Match List | with List 11

List | Concept List Il Theorist
A. Delinquency area . Albert Cohen
B. Sub-cultural Theory Il. Clifford Shaw

C. Differential Opportunity Theory|lll. Howard Becker

D. Labelling Theory IV. Cloward and Ohlin
Choose the correct answer from the options given below:

TA-LE-ILC-U,D-1V
2ZA-ILB-LC-IV,D-1I
A-IV,B-IILC-1,D-1
4AA-NIL,B-1IV,C-1I,D-1

(1) 1
(2) 2
(3) 3
(4) 4
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c. f[ave® sam fgld IIl. Blas

D. Tafel fagid VA SEIERCEIHE
o feu e fadeal # 9§ Ugl 3T gHU :

TA-LE-ILC-H, D-IV
ZA-ILBE-LC-IV, D-1I
3.A-IV,B-IILC-1, D-1I
A A-NL,B-IV,C-1l, D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38721] Question Description : dwbv_pg_scy_eng_2_q6
2[Option ID=38722]

3[Option ID=38723]
4[Option ID=38724]

Sl. No.7
QBID:5007

Who gave the concept of "sick role'?

1. R. K. Merton

2. Talcott Parsans
3. M. ) Smelser
4. C.W. Mills

1) 1
) 2
(3) 3
(4) 4




e =701 YH@T B HTURN §15?

1. 3R, .92 (R.K. Merton)

2. AA®IE UHH (Talcott Parsons)
3. T, S, TEW (N. ). Smelser)

4. 11 3o, THSH (€. WL Mills)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38725] Question Description : dwbv_pg_scy_eng_2_q7
2[Option ID=38726]

3[Option ID=38727]
4[Option ID=38728]

Sl. No.8
QBID:5008

Following scholars have written extensively on the relationship between caste and politics in India
A. Rajni Kothari

B. Norman Palmer

C. D. Miller

D. Colin Campbell

E. Key

Choose the correct answer from the options given below:

1. A B and C only.
2.D and E only.

3.ABCDandE
4.B, Cand D only.

(1)
(2)
(3)
(4)

fFrafaRad # ¥ i fagMT = YRa H Wifd ud Ieita & A2 Heul R e w0 4 o [6d 87
A. ToHl BISR
B. T Ul
c. 2. fHm
D. BITcH breT
E. I
<< feu 7Te fadeal 5 9 98l SR 9 -
1.®dd A, B 3R C
2.%aa D AR E

3.A B C D3RE
4, HaAB, C R D

A W N R

(1) 1




(2) 2

3) 3

(4) 4

1[Option ID=38729] Question Description : dwbv_pg_scy_eng_2_q8
2[Option ID=38730]

3[Option ID=38731]
4[Option ID=38732]

Sl. No.9
QBID:5009

Match List | with List 11

List | List 11
Author Book
A. A.R. Desai I. Peasant Struggles in India
II. Social Origins of Dictatorship and Democracy : Lord and Peasant in the Making of the Modern
B. D.N. Dhanagare
World
C. David Hardiman lll. Peasant Movements in India
D. Barrington Moore . ) )
I IV. Pegsant Resistance in India
r.

Choose the correct answer from the options given below:

TA-LB-ILC-1,D-1V
ZA-NLB-1L,C-1,D-1V
A-LE-NIILC-IV,D-1
4 A-1L,B-1L,C-1V,D-1

1) 1
(2) 2
3) 3
(4) 4

Tl -1 B gt -1l ¥ gAfd Biforg -

i - TE® gl - Tad
A TR GOR || Oe< T 34 5fea
. |l G AR 3iie fEacea Us SHh : dls
B SN T by e 3 @ S off 3 Hfe s
C'gﬁgﬁf 111 Ulei= HaH-==g 34 Sfaar
D-_SWW (v, drdie Y= 3 2
< fgu e fGdent & 9 98 IR AT

TA-LE-ILC-1, D-IV
ZA-NLB-1L,C-1, D-IV
A-LB-NILC-IV, D-1I
4 A-1L,B-1L,C-1V, D-1

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38733] Question Description : dwbv_pg_scy_eng_2_q9
2[Option ID=38734]

3[Option ID=38735]
4[Option ID=38736]




Sl. No.10
QBID:5010

Match List | with List 11

List | Term List Il Meaning

A. Political Elites  |I. Elites of Knowledge
B. Business Elites  |Il. Elites of Respect

C. Social Elites I1l. Elites of Wealth

D. Intellectual Elites|IV. Elites of Power

Choose the correct answer from the options given below:

TA-LB-ILC-ILD-1V
ZA-IV,B-IILC-I,D-1
A-LE-NILC-1,D-1V
4AA-1L,B-IV,C-1,D-1I

1) 1
(2) 2
(3) 3
(4) 4

Tl -1 B gt -1l ¥ gAfd Biforg -

Tt -1 TE Tl -1 o
INEEIREREIELEIC . M & AR
B. EYIE A Il M & A
C. o ST . uaT & HTE
D. difg® Sy v, S & ST
i feu e fadpeal # O Ugl 3R gHU :

TA-LB-ILC-1, D-IV
2ZA-IW,B-NILC-Il, D-1
A-LE-NILC-1, D-IV
4A-1IL,BE-IV,C-1, D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38737] Question Description : dwbv_pg_scy_eng_2_q10
2[Option ID=38738]

3[Option ID=38739]
4[Option ID=38740]

Sl. No.11
QBID:5011

An economy in which much of the work force is involved not in the physical production or distribution of material goods
but in their design, development, technology, marketing, sales and servicing, is known as -

1. Industrial Economy
2. Knowledge Economy
3. Pastoral Economy

4. None of the above

(1) 1
(2) 2
(3) 3
(4) 4




3 TR Bl [ ©U H SH 91l &, o aga-aR1 dred Hifidd died a1 Hifdd axgsil & faaor & giferd 36! g,
difde 9 Sifided (feumsm), fG@, uRifa!, fquum, ot Sk afar (@91 uereh) © Hrd Jedl 67

1. A qefemamy

2. -1 redegamn

3. IRATE-H14MRT deqawT
4. 3udad # U D5 el

1)
(2)
(3)
(4)

A W N =

1[Option ID=38745] Question Description : dwbv_pg_scy_eng_2_qi11
2[Option ID=38746]
3[Option ID=38747]
4[Option ID=38748]

Sl. No.12
QBID:5012

Arrange the following works chronologically -

A. The Postmodern Condition

B. Economy and Society

C. The Division of Labour in Society

D. The German Ideology

E. The Culture Industry : Enlightenment as Mass Deception
Choose the correct answer from the options given below:

1.A D CBE
2.BAECD
3.0, CBEA
4. ED B CA

1)
(2)
(3)
(4)

A W N R

AR Hiaal Bl PIIHHITER SAaid Bitor
A. G URZ-Hig- deiRH

B. SHFIHI TS FEEd

C. & fefaem 3t oar 34 9ramdl

D. & Wi Mgfeaiersn

E. G Bodd 5% : gAABeHe US| A feuwH

o feu U fadeal H U 9el 3R 94 :

1.A D CBE
2B AECD
3.0, C, B EA
4 EDBCA




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38749] Question Description : dwbv_pg_scy_eng_2_q12
2[Option ID=38750]

3[Option ID=38751]
4[Option ID=38752]

Sl. No.13
QBID:5013

The "process through which religion gradually loses its influence over various spheres of social life”, is known as -

1. Differentiation
2. Enculturation

3. Homogenization
4. Secularization

1) 1
) 2
(3) 3
(4) 4

39 ufshar & [5G T d 9[1 odr & o9 Al T gEieid iigd & [afid &3 W o @1 uyiE side ©u 3 R giar s
872

ARER G N EUMEEE)

2. TR Am ) S Id-AeU (SBcdiH)
3. TOTC® (BHSHISSEH)

4, 4¥ FRUENSRUN (HRIERIS o)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38753] Question Description : dwbv_pg_scy_eng_2_q13
2[Option ID=38754]

3[Option ID=38755]
4[Option ID=38756]

Sl. No.14
QBID:5014

Match List | with List 11

List | List Il

Author Book

A. David Harvey l. The Urban Question

B. Manuel Castells l. Social Justice and the City

C. John Logan and Harvey Molotchllll. Wasted Lives : Modernity and its Outcastes
D. Zygmunt Bauman I\V. Urban Fortunes

Choose the correct answer from the options given below:

TA-LB-NILC-IV,D-1
2ZA-ILB-NM,C-1I,D-I
A-ILE-LC-IV,D-1I
4A-LB-ILC-U,D-1V

(1) 1




) 2

3) 3

@) a

Tl -1 &1 Gl -1l ¥ GHfed $ifoe :

Tl -1 TE® LEIRIRSED

A Sfas T I. g e SR

B. Td e II. iEre Sy s § Rl

C. S JT 3R B1d IIl. TS 3o : Al T8 32h
BINIE] HIeHmed

D. fSFTHE aiF V. e BT

I feu e fadpeal # 4 Ugl 3R giHU :

TA-LB-NILC-IV, D-1I
2ZA-ILB-IV,C-1ll, D-1
A-ILE-L,C-IV, D-1lI
4A-LB-ILC-1, D-IV

1)
(2)
(3)
(4)

A W N R

1[Option ID=38757] Question Description : dwbv_pg_scy_eng_2_q14
2[Option ID=38758]
3[Option ID=38759]
4[Option ID=38760]

Sl. No.15
QBID:5015

Arrange the following social legislations in chronological order on the basis of year of enactments:
A. The Equal Remuneration Act

B. Abolition of Sati Act

C. The Sati Prevention Act

D. The Hindu Marriage Act

E. The Maternity Benefit Act

Choose the correct answer from the options given below:

1.B,D,E A C
2.AB CDE
3.BCDEA
4. A B D EC

1)
(2)
(3)
(4)

A W N R




ufiad g faurt o 39% e ad & YR IR SIaHH 5 oaied SIe
A T Ui sifas
B. Tcll IE s
C. Tl FRIs® sifafam
D. fog faamg sifafam
E. HIg@ Y AT
i< feu 7Tu fadedl 5 9 98l IR 9 -
1.B,D,E A C
2.AB,C,D,E

3.B.CDEA
4.4 B.DEC

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38761] Question Description : dwbv_pg_scy_eng_2_q15
2[Option ID=38762]
3[Option ID=38763]
4[Option ID=38764]

Sl. No.16
QBID:5016

Who explained the possible reasons for the emergence of primate cities in 19397

1. Louis Wirth

2. Ralph Linton
3. Mark Jefferson
4, Ashish Bose

1)
(2)
(3)
(4)

gy 1939 H UHE TRl & 34 & GHIfdd GRUll @I FHafeied H 4 - areniid féar g2

1. qea oy

2. ferme
3. AT SHIad
4. RN 919

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=38765] Question Description : dwbv_pg_scy_eng_2_q16
2[Option ID=38766]
3[Option ID=38767]
4[Option ID=38768]

Sl. No.17
QBID:5017




Centre for Contemporary Cultural Studies (CCCS), one of the most influencial centres to study culture, is attached with -

1. University of Oxford

2. University of Birmingham
3. University of Delhi

4. None of the above

(1) 1
(2) 2
3) 3
(4) 4

TXPia & g & [T Gaidd THGRIT B5l H § UH Hex BR Geiw] dodd e (U8 duy) fGud da9g &7

1. IHAfE ofF Hiemis
2. gafdd e afifay
3. fecei! faxfaeray

4. 3udad A DI el

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38769] Question Description : dwbv_pg_scy_eng_2_q17
2[Option ID=38770]

3[Option ID=38771]
4[Option ID=38772]

Sl. No.18
QBID:5018

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Sociologist must separate the empirical work from the conceptual universe that they construct.

Reason (R): In Weber's view, history is composed of unique empirical events; there can be no generalizations at the
empirical level.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (4).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

1) 1
(2) 2
3) 3
(4) 4




A Y CUU G : US &l HUSHYH (A) AR g8 DI 9 (R) el ™8|
HIYHYA (A) : GHISRAT] DI UHeddD §elis ¥ HJHTTE g1 &I §Ud -1 diiey fa9d! d FHH0 &d 8l

T (R) : 9% @ SP®I0 H Sfierd [y srvaee ge-reil 3 Wiud 3, ST SgHaerd W) IR QRS0 el [dhdl ol
T@odl gl

Iudad DYl & lclid | FHildd [dbedl H 4 el 9 9 -

1. (A) 3R (R) GHT &1 & ¥R (R), (A) B GEI ARBTT &1
2.(A) AR (R aﬁrﬁl%ﬂﬁ )ﬁﬂéﬁwqﬁ%
3.(A) TR B IR R}lfl%*’f%"@
4.(A) WEI TR s W4 (R) el o
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=38773] Question Description : dwbv_pg_scy_eng_2_q18
2[Option ID=38774]
3[Option ID=38775]
4[Option ID=38776]

Sl. No.19
QBID:5019

Which of the following statements are correct about Karl Mannheim?

A. Mannheim has sketched the broad contours of the sociology of knowledge

B. Mannheim's procedure and substantive findings clarify relations between knowledge and social structure
C. Mannheim argued that Marx created the prototype of the sociclogy of knowledge

D. Mannheim has not written the book "ldeclogy & Utopia”

E. According to Mannheim, the sociology of knowledge can lead to the "Scientific guidance of Political life".
Choose the correct answer from the options given below:

1. A B, Cand D only
2. A, BandD only.
3.A,B,CDandE
4. A, B, Cand E only.

(1) 1
) 2
3) 3
4) 4




B 48 & dey | Haftied § 9 H 4 oud 9l 82

A BEIH 9 T & ARG & AUd SUE g1

B. 9§16 B Ui Ul U8 Tl HEpt T U4 GHIoie §39] & A §ra ®I WY Bd &
C. B8 &1 dd ¢ & 71 = §1 & SRR 1 ey [ fan

D. HFEH A "Hgieuidlel TS Qeiitar AHe Gid &l oa- gl 1Tl

£. B0 & ER, §1F &1 GHEERE Ao-ia® dia- & dqli-d JrieeH g Uid & 9@dl 8|
o fGu U fodheal 3 9 98 S g -

1.HaAT A, B, C 3R D

2.%dd A, B3R D

3. BadA, B, C, D AR E
4. PdAA, B, CHRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38777] Question Description : dwbv_pg_scy_eng_2_q19
2[Option ID=38778]

3[Option ID=38779]
4[Option ID=38780]

Sl. No.20
QBID:5020

Which of the following statements are correct:

A. The modern working class in India was the offspring of the modern industries, transport and plantation established in
India during the British period.

B. The Indian proletariat was formed out of the pauperized peasant and ruined artisans, who became wage earners.
C. The Indian working class developed national and class consciousness much later than the educated middle class.

D. During the pre-British period, the workers of India were protected against risks of sickness, unemployment, old age and
death.

E. A larger proportion of the workers were prosperous in colonial India.
Choose the correct answer from the options given below:

1. A B and C only.
2.D and E only.

3. A B, Cand D only.
4. A Dand E only.

(1) 1
(2) 2
3) 3
(4) 4




Fafaied 5 4 @ ° ¥ 981 7
A YRA ® a1y ot 3 fafew o1 & RA YRd 8 =ifta nyfFe ST, arard/aiiasy ok o o9gm & ufawd 8|
B. HRA yHsidl / GdeRT o+ 3ifdha faHT ok gl ceR! / RicgsRl ¥ i ga o Augdl sfeHed! &4 7y
C. HR<IY %fHe g7 # AP 3R gl Fa=1 T 70 ol & agd g d I gl
D. fafew &1a & GRM, R & HIHER FHIGT, SRR, ST AR G & ARGH ¥ TEd 41
£. YUFAR HRd & SHIRI B U [&5ga e 952 o
TRt e H A WS I :
1.®dd A, B 3R C
2.%ad D 3R E

3.BAAA, B, C 3R D
4, BIAA DIARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38781] Question Description : dwbv_pg_scy_eng_2_q20
2[Option ID=38782]

3[Option ID=38783]
4[Option ID=38784]

Sl. No.21
QBID:5021

The name of the book in which W. F. Ogburn first introduced the hypothesis of "Cultural Lag” is

1. Culture and Society

2. Social Change

3. A Hand Book of Sociology
4. None of the above

(1) 1
() 2
3) 3
(4) 4

39 [ &I 11 o1 &, ored S&g, Uh. 3ITaH - HuH aR “URea® [aena-T (@caid o) & aR) 3 IRid S o1 7

1. Bed? U8 GGl

2. = A9

3. U ESqd 3H1® giREmarst
4. 3udad A DI el

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38785] Question Description : dwbv_pg_scy_eng_2_q21
2[Option ID=38786]

3[Option ID=38787]
4[Option ID=38788]

Sl. No.22
QBID:5022




Social aggregations that emerge from the Net when enough people carry on public discussions to form webs of personal
relationships in cyberspace is known as

1. Virtual Community

2. Residential Community

3. Non-residential Community
4. None of the above

1)
(2)
(3)
(4)

39 g 9HE @ g 911 T 91 911 &, fore®1 e 9 a@ SHifauia 51aT &, v/ T saiad Geadedd H ofgaTd 96y @1
& (W10 §9H & oY grdaHe 991 3 87

A W N =

1. HTHTE THE™
2. H1GTHT HE g

3. TR-3MaiTg 99e™m
4. 30T H Y BIS Tl

(1) 1
) 2
3) 3
4) 4

1[Option ID=38789] Question Description : dwbv_pg_scy_eng_2_q22
2[Option ID=38790]
3[Option ID=38791]
4[Option ID=38792]

Sl. No.23
QBID:5023

Given below are two statements:

Statement I: Human survived for tens of thousands of years without permanent settlements.
Statement |I: The evolution of early cities began 12,000 years ago.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

(1) 1
(2) 2
(3) 3
(4) 4




Al s T E:
HY - | - AHIT &1 Wi e & aRaf a6 9@ wiad 8l
T - 1| : HRIYS TR & B BT ARH 12000 T4 TSl AT
Swdd DUl & 1cilies H Fafaiad el § 4 w8l s g -
1. @Y | 3R 1 S Gl B
2. Y| AR I SHI TTad B

3. ®YT | BBl &, Wit YA 1| Tad g
4. Y | TTAd &, A &Y 11 FRl 8l

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38793] Question Description : dwbv_pg_scy_eng_2_q23
2[Option ID=38794]

3[Option ID=38795]
4[Option ID=38796]

Sl. No.24
QBID:5024

Which of the following facts are correct about the concept of gender?
A. Ann Oakley's "Sex, Gender and Society (1972)" made the sex-gender distinction popular in Sociology.
B. Gender is a matter of culture, it refers to the societal classifications into masculine & feminine.

C. Margaret Mead's study of the 3 societies in the New Guinea Islands contributed to the shaping of the concept of gender
in the latter half of the 20th Century.

D. Gender is not socially constructed.
E. Gender is not a matter of culture.
Choose the correct answer from the options given below:

1.C, D and E only
2. A Band D only
3.A B, CandE only
4. A, Band Conly

1) 1
(2) 2
3) 3
(4) 4




s Hoed & ar & FEfafed o € ©1H-8 91 981 Tel a7
A. T HIdd & Jad Yad, 98X UUS GIHEe (1972) 5 YHRRIRG H 41H-IeRT/d R dd & 4g @l dieig g4
8. AfTemal U Tiepiaes AT 2, T8 T3 3R i & T H grifos arffe<or gq Yefila fosar smar 21

C. =g i1 g1u o9 arel & ARIRE His gR1 6y 1Y siegH = 2041 Adled! & ITIE A iildhdl @I SR I HHR o H
grTe faa|

D. Sis¥ (&) 41 &R Efud 81 B
. ST Tpia o1 fgug el B
i fgu U fodenl § 9 9 I A -
1.®dd C, D 3R E
2. 590 A BIHRD

3. HBAAA, B, C IR E
4, BATAA, B AR C

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=38797] Question Description : dwbv_pg_scy_eng_2_q24
2[Option ID=38798]

3[Option ID=38799]
4[Option ID=38800]

Sl. No.25
QBID:5025

Who wrote the book The Transformation of Intimacy?

1. P. Bourdieu
2.U. Beck

3. ). Baudrillard
4. A. Giddens

1) 1
(2) 2
3) 3
(4) 4

"% CIOBIHEH HIE Sferdl Tid & o8® dH 6 ?

1. U1, SRfEa
2.4 4%

3. 9. difgers
4.0 39

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38801] Question Description : dwbv_pg_scy_eng_2_q25
2[Option ID=38802]

3[Option ID=38803]
4[Option ID=38804]

Sl. No.26
QBID:5026




According to Talcott Parsons, two main functions of family are-
A. Primary Socialization

B. Personality Stabilization

C. Religious harmonization

D. Property mobilization

E. Conflict Neutralization

Choose the correct answer from the options given below:

1. A and E only.
2.B and D only.
3.Cand D only.
4. A and B only.

1)
(2)
(3)
(4)

A W N R

eTadIc UREY & HIUR URAR & &l WHE & oH 4 87
A, TS FATSTHI0
B. olifddcd fIH
C. UliHe FreerRiiHul
D. THIf T THAIHI0
E. oY TeRiiaRu
il feu e famel 5 4 9 SR A -
1.Hau A AR E
2. 59aB AR D

3. HIAC AR D
4. HadA AR B

1)
(2)
(3)
(4)

A W N =

1[Option ID=38805] Question Description : dwbv_pg_scy_eng_2_q26
2[Option ID=38806]
3[Option ID=38807]
4[Option ID=38808]

Sl. No.27
QBID:5027




Given below are two statements:
Statement |: Gentrification is a process of moving wealth back into the metropolis.

Statement II: Gentrification in Europe and the United States is a process which has often worked to the benefit of ethnic
minorities at the expense of white people.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
) 2
3) 3
4) 4

T - | - Sifefihdh e HgHRI H Uugl 31 audl &1 U Ui 3|

DU - 1| : Y R ERI® H i fhdeH a8 Uishd g fore- W: TR @Rl & &iad IR el Heddedd! & A & (ol &
far gl

U BYAl & e J FafaRed G H 9 98 Iwm g
1.®YT 1 AR I G Fd & |
2. YT 1 3R 11 GHT T &

3. YT | 9d §, dfth dYA 11 3T B
4. @Y | 35T B, At dF 1 G B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38809] Question Description : dwbv_pg_scy_eng_2_q27
2[Option ID=38810]

3[Option ID=38811]
4[Option ID=38812]

Sl. No.28
QBID:5028

Match List | with List Il

List | List 11

Works Authors

A. The Body and Society: Explarations in Social Theory |I. H. Bhabha
B. The Location of Culture Il. B. S. Turner
C. The Coming of Post-industrial Society L. D. Bell

D. Culture as Praxis IV. Z. Bauman

Choose the correct answer from the options given below:

TA-ILE-IV,C-1I,D-1
2ZA-LB-IV.C-IIILD-1
A-IV,B-IILC-1,D-1
4A-1LB-1,C-U,D-IV




1) 1
(2) 2
(3) 3
(4) 4

Tl -1 & gt -1l @ gAfd Siforg -

Tl -1 Hiagi Tl -1l D
A G alS! US I : TeEwReiy 34 919rd ARt 1. T, U1
B. § TR 3HF Sed? I & 0. TR
C. T B 3P URe-Sefega aamael n. 3. &§a

D. Tead U Ufdeg Iv. oIS, e
i feu e fadpeal # O Ugl 3R gHU :

TA-ILB-IV,C-ll, D-1
2ZA-LB-INV.C-1I, D-1
A-NVB-U,C-I, D-1
4.A-1LB-LC-lI, D-IV

1)
(2)
(3)
(4)

A W N =

1[Option ID=38813] Question Description : dwbv_pg_scy_eng_2_q28
2[Option ID=38814]
3[Option ID=38815]
4[Option ID=38816]

Sl. No.29
QBID:5029

Causes of the peasants revolt against-exploitation and oppression are:

A. Deterioration of their economic condition due to price rise, famine, etc.
B. Upliftment of their social status

C. Economic prosperity

D. Structural changes

E. Rising aspirations of peasants to improve their condition
Choose the correct answer from the options given below:

1. A and B only.
2. A, B, Conly.
3.D and E only.
4. A Dand E only.

1)
(2)
(3)
(4)

A W N R




Y 3R GFH & [aeg fhuH fagie & sRUE -

A DIHA 3G, HDIA HC & BRUI 3! Hdd G2 BT 3™
B. 1| WHISI® G &1 Iad-

C. s Tgfs

D. E¥g-I#HD Uk
E. g 1 Uil G=11 YR & 70 sgdl iy
i< feu T fasel # 4 98 Iw g :
1.®dd A 3R B
2. Had A, B3R C

3. HaaD AR E
4. HadA DIARE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38817] Question Description : dwbv_pg_scy_eng_2_q29
2[Option ID=38818]

3[Option ID=38819]
4[Option ID=38820]

Sl. No.30
QBID:5030

Which of the following facts pertaining to conceptual shifts in the Women In Development (WID) discourse are correct?
A. WID considers women as a homogenous group.

B. WID does not consider women as a uniform group.

C. WID projects the myth that women's development can be achieved by addressing economic issues alone.

D. In WID, women are treated as 'beneficiaries of development’ not as active agents of development.

E. Decade for women {1975-85) signified a new visibility of Women in Development (WID) in International Forums.
Choose the correct answer from the options given below:

1. A B and E only
2. A, B, DandE only
3.A C DandEonly
4. A Band D only

(1) 1
(2) 2
(3) 3
(4) 4




dieH 34 SaauHe (S&g T3 o) [ausl & Ydheu-ad uiad 4 HafEd Hafdiad § oF 4 aw 981 87
A. S T3 S B HHAT & fdb Aigad U YHACY HE & |
B. S&Y 3T St Hiansl & e I e A 2|
C. S5 T3 31 U8 Hy® Haidd &3l & i A e guwns & TayE sR1 Afgdl (9o &1 Wi &1 o Yhdl o
D. S&Y 313 of H, Aigars &I fad™ o Tishy sifimdl & f6-1 [dem &I arrdl & & 5 5[/ g1
E. AR &% (1975-85) 7 AP Fd W G H Afgaraii &1 73 uRRUTI S 7e< e |
o fEu U fodheal 4 9 98 S g -

1. Bad A, B HARE

2. %A A, B, DIRE

3.BAAA, C, D IR E

4.PadA BIAHRD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38821] Question Description : dwbv_pg_scy_eng_2_q30
2[Option ID=38822]

3[Option ID=38823]
4[Option ID=38824]

Sl. No.31
QBID:5031

Parsonian view is based on which of the following set of assumptions:

A. Systems have the property of order and interdependence of parts.

B. Systems tend toward self-maintaining order or equilibrium.

C. The System may be static or involved in an ordered process of change.

D. Systems maintain boundaries with their environments.

E. The nature of one part of the system has an impact on the form that the other parts can take.
Choose the correct answer from the options given below:

1. A and B only

2.B, Cand D only
3.A B, C,DandE only
4. A and Conly

(1) 1
(2) 2
(3) 3
(4) 4




Fwifrd o SifieRunsi & TH=g R Uy & faaR S1uiid &
A. TOGRIT H Y1 & o0awyT 3R RER-FRar & o e 21
B. SHGRYTY 3TH-3FR&UT 4 3fyal Wd B 3R g el &1
C. SUGRTY TS 3fydl URddH & ouaieyd Ufssal # e sidi 81
D. GRIIU U GRaRI € U1l BT HIRE0 Bl & |
E. SOGRT & Ud U &1 UHd &1 30 & G- aTdl YTl & &Y W THIE Bidl 2|
i< feu 7Tu fadedl 5 9 98l SR 9 -
1. ®ad A 3R B
2.%q0 B, C 3R D

3.AB,C, D3IRE
4, BAAA AR C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38825] Question Description : dwbv_pg_scy_eng_2_q31
2[Option ID=38826]

3[Option ID=38827]
4[Option ID=38828]

Sl. No.32
QBID:5032

Given below are two statements:

Statement |: Disablism is the term used to describe an ideclogy that systematically marginalises and isolates persons with
disabilities through a range of social barriers: material, cultural and psychological.

Statement II: Social and cultural barriers are not the root cause for the oppression faced by persons with disabilities in the
society.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1) 1
(2) 2
3) 3
(4) 4




@Y - | : CAiaIaTE (FSufafaeH) 98 Tst ¢ ot 39 4RI & quF gq 61 911 & ol Hifd®, SRpiae SR J-laqi-d
ST GETToTE aTeTe ard [GeaiTor! Bl gouateyd aiid § SIRETER AR 3% YD () Bl gl

T - 1| : U SR Y fae ST 9T § [Gaaiem1 gR1 9T fbT 91F ard SdisH g Jd R el ol
Iudad dyHl @ aie | FafaRad fGeddl § 9 98 3o g -

1. @Y | 3R 11 SFT 9ET §

2. %Y 1 AR 11 G e g

3. ®YT | TEl &, it YA 1| Tad g
4. ®YF | 7Tdd &, At &Y 11 98l 5

1)
(2)
(3)
(4)

A W N =

1[Option ID=38829] Question Description : dwbv_pg_scy_eng_2_q32
2[Option ID=38830]
3[Option ID=38831]
4[Option ID=38832]

Sl. No.33
QBID:5033

Which of the following are correct for Labelling theory, which is a dominant paradigm in the explanation of deviance?
A. Labelling theory is used interchangeably with the “societal reaction theory”.

B. Julia Kristeva is an important contributor to this theory.

C. M.G. Sumner's concept "folkways" is a central concept in labelling theory.

D. Labelling theory was significantly influenced by the Chicago School .

E. It has also been influenced by radical criminologists .

Choose the correct answer from the options given below:

1. A only

2. A and D only
3. A Band Conly
4.B,C, Dand Eonly

1)
(2)
(3)
(4)

A W N R




Fafeiad # 9 @ defcr fgid & e 98l 8, Wi fdga- & saRea H Ud Ud WiadH 82
A. TEleT FaGid @ a5 UeR 4 9iuged RuaeH fbgid & fou wed for o 1
8. Sifern fereear 39 figia H ue Aeayyf aieHddi g

C. THSH. THR B "Hidde” HTURUN TaerT [USid ®I WE SR |

D. diafcHT fsia RIS ¥d ¥ Hgayul o1 ¥ yHifad g
. T8 SU-RIHRRad! o H uuifad w1 8
i< TeU 71Q fadhedl # U el IR 44 -

1. ®hdd A

2.Had A 3R D

3. HAAA, B AR C
4.%aAB, C, D IRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38833] Question Description : dwbv_pg_scy_eng_2_q33
2[Option ID=38834]

3[Option ID=38835]
4[Option ID=38836]

Sl. No.34
QBID:5034

Given below are two statements:

Statement I: Ambedkar asserted that for the emancipation of scheduled castes, they should come forward and assert for
their own cause.

Statement |l: Ambedkar wanted to liberate Dalits by building an egalitarian social order and suggested to them a mantra:
Educate, Organize and Agitate.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1)1
(2) 2
(3) 3
(4) 4




BIERAEZICAAEI P
DY - | : SR 4 HY[Td Alfqdl & ISR W e 641 [ 3% AR ge41 FNiey SR U+ W4 & AU &1a1 &A1 dliel|

T - 11 HESHR Glerdl &1 GHAEG! Qo ooa=yT & Haor §R1 4 ared ¥ 3R 3<% te 43 e - Rifém &1, fda
Bl 3R 3fiaie B

SWad HUAl & H1die H HufeRad fadddl § 4 9el 3w g -
1. YT | AR 11 ST FT B
2. Y| AR 11 SFT I FT B

3. BYT | T B, AfthT dUH 11 ST Bl
4. BYF | T B, o7 HYT 11 TA B

1)
(2)
(3)
(4)

A W N =

1[Option ID=38837] Question Description : dwbv_pg_scy_eng_2_q34
2[Option ID=38838]
3[Option ID=38839]
4[Option ID=38840]

Sl. No.35
QBID:5035

The term "Biodiversity” was coined by -

1. AG. Tansley
2. E. Clement

3. E.O. Wilson
4. E. Odum

1)
(2)
(3)
(4)

A W N =

SAAAUar Weg B 191 s @i i

1. 0o, e
2.3 e
3. 3.311. I
4.3 3fTsH

1)
(2)
(3)
(4)

A W N R

1[Option ID=38841] Question Description : dwbv_pg_scy_eng_2_q35
2[Option ID=38842]
3[Option ID=38843]
4[Option ID=38844]

Sl. No.36
QBID:5036




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The term diaspora denotes the dispersion of people throughout the world.

Reason (R) : The Indian diaspora is known for its cuisine, cricket, and cinema.

In light of the above statements, choose the carrect answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

1) 1
(2) 2
3) 3
(4) 4

A FYA RUME: 0P 3 AUFYA (A) IR T B SR (R) Hel T &
HIEHYA (A) : STOERT et G0l [3% & AR & WOR (Bhama) ®f iy axal ol
PR (R) : YRAE SEERT 39+ @ &o, fivdie SR R & g 94 9 & |
Iuad YAl & Hldid | FHifed [dbedl # 4 Wel 9 - -

3R (R) TFI T & 3R (R), (A) P Te! WA & |

AR (R) THT T & TG (R), (A) BT TEl R T ¢
T 8 W (R) ST B

HUd § ] (R) G g

R
R R
Zz2z2

1[Option ID=38845] Question Description : dwbv_pg_scy_eng_2_q36
2[Option ID=38846]
3[Option ID=38847]
4[Option ID=38848]

Sl. No.37
QBID:5037




Bourdieu developed an idea of Socialization through the concept of 'Habitus'.
Habitus includes:

A. Skills and the ways of looking at the world.

B. Human capacities and opportunities embodied in forms of capital.

C. Habitus posits and bestows specific properties.

D. The process of making Habitus does not begin in the family setting.

E. Bourdieu opined that all classes possess the same Habitus.

Choose the correct answer from the options given below:

1. A B and C only
2.D and E only
3.A Dand E only
4.B and E only

1)
(2)
(3)
(4)

A W N =

Tfeg A &fecy (snaw TaeR) ®1 Yhed-l & 9190 U GO ®HI0 & [ddR Bl [doiad [6dl : giacd H Qeied & -
A PIRT 3R % BI @ BT Rl
B. §oll & 4 H WiHHferd JHd &Har 3R Sae’|
C. BiecH TafRIp Uil B ¢1Rd HXd & 3R I% Uad Hd 5|
D. Bfey gH 31 Ufshdl UIiaiies =1 § SRY &1 gidl &
£. difayg - ud fean i ol o waH gfaey uifd oxd 21
i< feu e fawedl 5 9 981 IR 9 -
1.HAAA, B AR C
2.%qa D SR E

3. ®WadA DIARE
4. Had B 3N E

1)
(2)
(3)
(4)

A W N R

1[Option ID=38849] Question Description : dwbv_pg_scy_eng_2_q37
2[Option ID=38850]
3[Option ID=38851]
4[Option ID=38852]

Sl. No.38
QBID:5038




Who described land use in Chicago in terms of concentric zones rather like a Bull's-eye?

1. Kevin Bales

2. Howard Becker

3. Ulrich Beck

4. Earnest W. Burgess

1)
(2)
(3)
(4)

A W N R

Wﬁ@%@%(ﬂ&l}ﬁmmm[comemﬁc zones}%ﬁqﬁmﬁﬁmﬁﬁww
e

1. B gcd
2. 84S g%
3. JAND 9B
4. ¥ S

1)
(2)
(3)
(4)

A W N R

1[Option ID=38853] Question Description : dwbv_pg_scy_eng_2_q38
2[Option ID=38854]
3[Option ID=38855]
4[Option ID=38856]

Sl. No.39
QBID:5039
refers to a family in which at least one of the adults has children from a previous marriage.
1. Joint family

2. Avanculocal family
3. Step family
4. None of the above

1) 1
(2) 2
3) 3
4) 4

----- T ufRaR T 9afid & fored forelt oo & U g | e gu faars @ s=n sian &

1. ¥ga UaER
2. HIgd ®iie uiaR
3. Hiddl ORaR
4. IRF H YDl T8l

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38857] Question Description : dwbv_pg_scy_eng_2_q39
2[Option ID=38858]
3[Option ID=38859]
4[Option ID=38860]




Sl. No.40
QBID:5040

Standard deviation is a measure of dispersion around the:

1. Mean

2. Median

3. Mode

4. None of the above

1) 1
) 2
3) 3
4) 4

e o1 TRu a1 i AU & -

1. 718
2. gifea1

3. 9ga®
4. 304 H P el

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38861] Question Description : dwbv_pg_scy_eng_2_q40
2[Option ID=38862]

3[Option ID=38863]
4[Option ID=38864]

Sl. No.41
QBID:5041

Match List | with List Il

List 1 List 1l

Rule Marriage

A. Exogamy |l Anuloma

B. Endogamy |Il. Pratiloma

C. Hypergamy|lll. Within own group

D. Hypogamy (IV. Outside own group

Choose the correct answer from the options given below:

TA-ILB-IV,C-I,D-1
ZA-IV,B-ILC-1,D-1
A-LE-ILC-N,D-1V
4AA-1L,B-1LC-IV,D-1I

1) 1
() 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed St

gl -1 i -1l faag

A. sigfdarg |, HTTH

5. Hfdarg IR IGEIE

C. SISUHT Ill. %98 & g & HidR
D. SIZUR V. %60 & HHE & 16X
Hid feu e fadeal # 9§ 98l 3T gHU :

TA-ILE-IV,C-1l, D-1
2ZA-IV,B-ILC-1I, D-1
3.A-LEB-ILC-1, D-IV
4A-1LB-1LC-IV, D-1I

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=38865]
2[Option ID=38866]

3[Option ID=38867]
4[Option ID=38868]

Question Description : dwbv_pg_scy_eng_2_q41

Sl. No.42
QBID:5042

Sociologist Ronald Robertson states that globalisation at the cultural level began to occur because of:
A. Compression of the world and global consciousness.

B. Compression of time and contraction of space.

C. International recession and change in world order.

D. Increase in flows and global interaction.

E. Intensification of global ecanomy.

Choose the correct answer from the options given below:

1. A only
2.Bonly

3. A and B only
4.C, D and E only

1) 1
(2) 2
3) 3
(4) 4




S N

HfaRad SRUIN Y SR gail :

HISEIRH] JFTCS T g & B ¢ [ YBpidd TR UR dEH0]
A. Ta% &1 Hdts ud S o)
B. THY-YUlSH Ud ™M YHa-|
C. SRIPH U Ud {3y ooaer H uRadd |
D. Wdle # gis Ud df¥@ arrisan
E. df%e Srfegaeyl &1 didideu|
i< feu 7Tu fadedl 5 9 98l SR 9 -
1. ®ad A
2.%ad B

3. $ad A 3R B
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38869] Question Description : dwbv_pg_scy_eng_2_q42
2[Option ID=38870]

3[Option ID=38871]
4[Option ID=38872]

Sl. No.43
QBID:5043

SPSS is a computer application that allows quantitative data to be managed and analysed. SPSS stands for:

1. Statistical Package for Social Studies.

2. Statistical Package for Social Sciences.

3. Statistical Package for Sociology and Social Anthropology.
4. Statistical Package for Scientific Study.

(1) 1
) 2
3) 3
4) 4

TYU. U0, Th $ex WM € o ARE® Hi® sl &1 HatH R [G=euo fadl oiidl 81 .99 08.®1 U A9 &
1. RfeRedd Ubel BR ¢ IRd Taia

—

2. Wicfedma U BR E gi9e gEdy

3. Riefead Uos BR TifiEdrs! TS e eyt

—

4. Refemd Udd BR UERhS w3l

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38873] Question Description : dwbv_pg_scy_eng_2_q43
2[Option ID=38874]

3[Option ID=38875]
4[Option ID=38876]

SI. No.44
QBID:5044




Match List | with List 11

List |

List 11

A. E. Durkheim |I. New Rules of Sociological Method

B. A. Giddens

Il. The Rules of Sociological Method

C. M. Foucaul

t |lll. The Archaeology of Knowledge

D. N. Fairclough(IV. Critical Discourse Analysis: The Critical Study of Language

T.A-III B

4 A-1, B

1)
(2)
(3)
(4)

A W N R

Choose the correct answer from the options given below:

-ILC-1,D=-IV

2ZA-ILB-1LC-IV,.D-1I
3.A-ILB-1LC-I,D-1V

-, C-IV, D=1

Tl -1 &1 Gl -1l ¥ GHfed ST :

gl -

Tl -1

A 3. @M

. Fed AP TREEiET 1Ys

B. U g0

Il § ol 3H1h giffEdieed dys

C. U4, Bl

1l § AMfearare 1% Al

D. TF. iR Iv. rfedd fewapid TaIfaifay : © fpfedma wa! 31w

A SICEl

< feu T fadeat ¥ WE S| g
1T.A-IILB-ILC-1, D-1V
2.A-1,B-1,C-1V, D-1Il
3.A-IL,B-1,C-1ll, D-IV
4. A-IILE-ILC-IV, D-1

1 1

(2) 2

(3) 3

4) 4

1[Option ID=38877] Question Description : dwbv_pg_scy_eng_2_q44
2[Option ID=38878]
3[Option ID=38879]

4[Option ID=38880]

Sl. No.45

QBID:5045

as

1. Dominant
2. Countercu

Values, beliefs and attitudes of a minority group which are in opposition to the mainstream or ascendant culture is known

Culture
[ture

3. Cultural materialism
4. None of the above




1) 1
(2) 2
(3) 3
(4) 4

TS UGS THE & 0T, a4 3R fighmt o e uRT a1 3RIE Tl & fadieh 2 € 39 fvw 0 §f 1 oI &2

1. WHRITed TEpid
2. Ufd-Tpfd
3. Gipfad Hifdearg

4. IUYe H U PIE TR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38881] Question Description : dwbv_pg_scy_eng_2_q45
2[Option ID=38882]

3[Option ID=38883]
4[Option ID=38884]

Sl. No.46
QBID:5046

Arrange the following works of Max Weber in a sequential order.

A. The Religion of China.

B. Ancient Judaism.

C. Economy and Society.

D. The Protestant Ethic and the Spirit of Capitalism.

E. The Religion of India.

Choose the correct answer from the options given below:

1.A B CDE
2.A B DEC
3.BACDE
4.0, A E B C

(1)
(2)
(3)
(4)

A W N R




Hod ek @l HgiaRad Giadl @ HHER Hafed S|

A, T REifomE w9z

8. URAIE J85A

C. 3B IS g

D. G UICET 3fUe US & Wiite #Ip budferes
. & Refifora offw 2fEa

< feu U fasweal # 4 9t Iw g :

1.A B CDE
2.A B DEC
3.BACDE
4.D, A E B C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38885] Question Description : dwbv_pg_scy_eng_2_q46
2[Option ID=38886]

3[Option ID=38887]
4[Option ID=38888]

Sl. No.47
QBID:5047

According to Alex Inkeles, the three main paths available for delineating the subject matter of sociclogy are:
A. Analytical

B. Empirical

C. Historical

D. Philosophical

E. Theoretical

Choose the correct answer from the options given below:

1. A B and C only
2. A, Cand E only
3.C, Dand E only
4. A, Cand D only

1)1
(2) 2
(3) 3
(4) 4




UCieR Shord & TR YHIGRIRE ®! [a9ga¥] & (930 g Iuae diF T AFl 6 :

IMCEGLIEEET

B. HIHATHD

c. theifa®

D. GRIA®

FEEAIRES

o fGu U fodheal 3 9 98 S g -
1.®ad A, B3R C
2. BadA C3HRE
3.%aa C, D ARE
4. A A, C3HRD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38889] Question Description : dwbv_pg_scy_eng_2_q47
2[Option ID=38890]

3[Option ID=38891]
4[Option ID=38892]

Sl. No.48
QBID:5048

The coming of an Artificial Intelligence Society is immediately preceded by:

1. First stage of knowledge society

2. Second stage of primitive communism
3. Third stage of feudalism

4. Agrarian social structure

1) 1
(2) 2
3) 3
4) 4

FHH AfGH GHS & 3THA & 1P Ued SH-91 901 87

1. IS GATS &1 TYH =0T
2. STfGH T BT fgdig 901
3. HddIg &I IRl TR0l
4. YD GHIFTH T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38893] Question Description : dwbv_pg_scy_eng_2_q48
2[Option ID=38894]

3[Option ID=38895]
4[Option ID=38896]

Sl. No.49
QBID:5049




According to a popular estimate, the decline of common property resources can take forms listed below:
A. Physical loss of resources due to natural calamity.

B. Deterioration of productivity of resources.

C. Re-assignment of usage and property rights.

D. Use of mechanisation and sharecropping.

E. Buying and selling of property.

Choose the correct answer from the options given below:

1. A and B only

2. A, Band Conly
3.A B, Cand D only
4. Eonly

1)
(2)
(3)
(4)

A W N R

TP Ao Q@HE & HTHR 9HEH Sufi/Age] ST H g9 ¥ FEiaiad 3 ®F 91/ Sl 81 9ad &
A. TIPTI® HUET & RO T 31 Wifos g
B. YHIEHl &I IAGHdl BT B
C. IUART X HuRY SYBRI BT gH: SXAAR0T
D. TiBHIBRUT 3R HEh el & FarT
E. U &1 357 3R fawy
il feu e famel 5 4 9 SR A -
1. 590 A AR B
2.Bqd A, BAHRC

3. BAAA, B, C 3R D
4. HBATE

1)
(2)
(3)
(4)

A W N =

1[Option ID=38897] Question Description : dwbv_pg_scy_eng_2_q49
2[Option ID=38898]
3[Option ID=38899]
4[Option ID=38900]

Sl. No.50
QBID:5050




Emile Durkheim's concept of 'Anomie’ predominantly appeared in his works:-
A. Suicide.

B. The Rules of Sociclogical Method.

C. The Elementary Forms of the Religious Life.

D. The Division of Labour in Society.

E. Meral Education.

Choose the correct answer from the options given below:

1. A B and C only
2. A and D only
3.B,Cand D only
4.D and E only

1)
(2)
(3)
(4)

A W N R

SHISA GEITH @1 THAH! B HAYRUN 3@! Hafaigd # 9 - $iodl # ved U § dhe gs o7
A gUES
B. T ©od 3B HiREES®d HYs
c. g uferded B o  Raliforag agw
D. % fEfae 31 Tar 34 Fere]
E. ARA TS
i<l feu 1u fadedl & 4 981 SR g -
1.Ha A, B AR C
2.%ad A R D

3. HadB, C AR D
4. HaAD ARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=38901] Question Description : dwbv_pg_scy_eng_2_q50
2[Option ID=38902]
3[Option ID=38903]
4[Option ID=38904]

Sl. No.51
QBID:5051




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A): One of the most significant approaches to conducting ethnographic research on online communities is
netnography which has been developed by Kozinets

Reason (R): Netnography is a form of ethnography because it entails the researcher's immersion in the online worlds under
investigation

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A&).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (4).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

1) 1
(2) 2
3) 3
4) 4

TG B GUU G : U @l SHUSHYA (A) R g8 @I dd (R) Bel Mgl

HIYFHYA (A) : HAAST SHEH! W HHd Sl QY & Sd1eH & 9di19e U § Hgaqul SUFTHE! § § Ud 3UFH -] &
o Biforicy A fdoiad fpar g1

P (R) : HeAITH! AHTEI [G9H &1 UF ©U ¢ difd 98 A9 § s [0y H 2ydal &1 dedi=al & HIREH §41a1 5
SUddd YAl & HTdld | FHifdd [dbedl # 4 Wel 9k 9 -

1. (A) 3R (R) SF 91 € 3R (R), () P! TEl ARAT B |
2. ) IR (R) TFF T B TR ) )Hﬂﬂé‘lquﬁ%l
3. (A) R IR R}“@Iﬁ-‘-@%l
4. (A) WEI T8I 8 13g (R) WEI &
(1) 1
) 2
(3) 3
(4) 4

1[Option ID=38905] Question Description : dwbv_pg_scy_eng_2_q51
2[Option ID=38906]
3[Option ID=38907]
4[Option ID=38908]

Sl. No.52
QBID:5052




Given below are two statements:

Statement |: Critical discourse analysis (CDA) emphasises the role of language as a power resource that is related to
ideology and socio-cultural change

Statement Il: CDA draws in particular on the theories and approaches of Foucault
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N =

IR TR A =

T - | ; IS farei fazem (@ 2u) te aeed 9 & E 0 5 U 31 yffie R 59 ol § 9 & GERyR $iR
HISS-Hithiad Uiadd d Jeltd g1

T - || : H.3T Bl & FGGHal 3R JUrH IR 89 w9 ¥ 11id g
IUad HUAT & Hdd § HEiRad fadedl 3 9 Tal Sud g1 -

1. @Y | 3R 11 GH Jel gl

2. YT 1 3R 1 GHf Tad g

3. @A | 981 8, dfte &Y 1| TTed &
4. Y | 7T B, A &Y 1| T8l 8l

1)
(2)
(3)
(4)

A W N R

1[Option ID=38909] Question Description : dwbv_pg_scy_eng_2_q52
2[Option ID=38910]
3[Option ID=38911]
4[Option ID=38912]

Sl. No.53
QBID:5053




Match List | with List 11

List | List Il

Types of Variable Definition

A. Dependent Variable |I. A variable whose categories can be rank ordered

B. Interval Variable II. A variable where the distances between categories are identical across its range
C. Ordinal Variable [ll. A variable that is influenced by another variable

D. Dichotomous Variable|lV. A variable with just two values

Choose the correct answer from the options given below:

TA-W,B-LC-I1I,D-1
2ZA-LB-IV.C-IIILD-1
A-ILB-IILC-IV,D-1
4. 4-1LB-1,C-1L,D-IV

1)
(2)
(3)
(4)

Tt -1 B gt -1 o gAfed Bt :

A W N R

ﬁr{ﬁﬁ?ﬁ -

A 31d W 1. U =R forgds avil o1 4Uiiehd foar o Tddl &
II. e o) gl @1l o did B giRal 39D Y &
TaEU g

CHHFR | TP RO T@ g RAUHGETE
D.fguid @ |v. 3P &l TR & 1Y T =R

= feu e fadwent § 9 81 IR 9T

TA-W,B-LC-1l, D-1l
2ZA-LB-IV.C-1ll, D-1
A-ILB-IL,C-IV, D-1
4 A-NLB-1,C-1, D-IV

B. 3 W

1)
(2)
(3)
(4)

A W N R

1[Option ID=38913] Question Description : dwbv_pg_scy_eng_2_q53
2[Option ID=38914]
3[Option ID=38915]
4[Option ID=38916]

Sl. No.54
QBID:5054




Match List | with List 11

List | List Il

Thinkers Theories

A. Pierre Bourdieu |I. Phenomenological approach

B. Anthony Giddens|ll. Theory of Social Capital

C. Erving Goffman |lll. Theory of Structuration

D. Alfred Schutz |1V, Dramaturgical approach

Choose the correct answer from the options given below:

T.A-ILB-1I,C-1L,D-1V
2ZA-IV,B-1.C-1l,D-1I
A-ILB-IILC-IV,D-1
4A-LE-IV.C-IL,D-1I

1)
(2)
(3)
(4)

A W N R

Tl -1 B gt -1l | gHferd s -

i -| Feids gl -1l gl

A R Eeg 1. THeAEE SUrTH

B. Uyl s I1. FrHISS Yol @1 fagid
C. 3 MwHEA 111, GLgTER @ faGid
D. HAHS Yool V. HEFORIREE SUFH
< feu e fadent § 9 98 SR g

T.A-ILB-I,C-1, D-IV
2ZA-IV,B-1,C-1l, D-1I
A-ILB-IILC-1IV, D-1
4A-LBE-IV.C-1l, D-N

1)
(2)
(3)
(4)

A W N R

1[Option ID=38917] Question Description : dwbv_pg_scy_eng_2_q54
2[Option ID=38918]
3[Option ID=38919]
4[Option ID=38920]

Sl. No.55
QBID:5055




Mention the manuscripts of Marx which were published after his death
A. The Poverty of Philosophy

B. The Communist Manifesto

C. The Economic and Philosophic Manuscripts

D. The Eighteenth Brumaire of Louis Bonaparte

E. Grundrisse

Choose the correct answer from the options given below:

1. A B and C only
2.Cand E only
3.B and C only
4. A, Cand D only

(1) 1
) 2
3) 3
4) 4

A1 1 3 Uigleual o1 Jeuid Bifo ol Id! GG b YT HIid gs Ui
A. G UG 3T il
B. § DR FHIbEI
C. & 3@HIHe Us fhardihe AgErd
D. & Ui iR 3l g3 9 aHmre
FREEE
i few g fadedt 4 9 wgl s 9
1.®ddA, B3R C
2.4 C 3R E

3. Haae AR C
4. HAdA A, C3RD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38921] Question Description : dwbv_pg_scy_eng_2_q55
2[Option ID=38922]

3[Option ID=38923]
4[Option ID=38924]

Sl. No.56
QBID:5056




Sanction refers to -

A. A group of people who look after laws.

B. Codes which are very flexible.

C. Specific incidents of violation of law.

D. Specific penalty attached by society to the violation of the code.
E. Those specific rewards attached to conformity.

Choose the correct answer from the options given below:

1.D and E only
2. A and D only
3.B and C only
4. A and B only

(1) 1
) 2
3) 3
(4) 4

IR (1] Heftld Bl 87
A DIl ®I T@aTe B are HAiaad] 1 b TE |
B. Hfgany, =it eicdd a=iel g |
C. BIFH & Jeaidd @l [GRIP ge-|
D. HiEd1 o Ieiu TR FHIS gRI T 7T [y 55|
e. 3 fafay ufowd, S sigeua 4 des B
e fgu e fameul § 4 96l S A -
1.9 D AR E
2.%ad A R D

3. HaaB AR C
4. HadA AR B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38925] Question Description : dwbv_pg_scy_eng_2_q56
2[Option ID=38926]

3[Option ID=38927]
4[Option ID=38928]

Sl. No.57
QBID:5057




Participatory Action Research (PAR) is an example of :-

A. Public Sociology

B. Classical Sociology

C. Critical Sociology

D. Theoretical Sociology

E. Sociology in Action

Choose the correct answer from the options given below:

1. A B and C only
2.B, D and E only
3.A CandE only
4.C, Dand E only

(1) 1
) 2
3) 3
(4) 4

e Ul fharded HYE (U U 3R) FafiaRad § § foger 3as 87
A, TP GHSRIG

B. T 1 THTSEIRA

C. HAldI=HTHd HHIERE

D. SSiide SRR

. a1 &1 THISRIE

e fgu U fadenl § ¥ 9 IW I :
1.®ad A, B 3R C
2. 9B, D AR E

3. HIAA, CIHRE
4.HaAC, DARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=38929] Question Description : dwbv_pg_scy_eng_2_q57
2[Option ID=38930]
3[Option ID=38931]
4[Option ID=38932]

Sl. No.58
QBID:5058




Feminisation of labour force denotes

A. a process of empowerment of women

B. globalisation creating more jobs for women

C. increase in participation of women in labour market

D. a process of subjugation of women

E. decrease in participation of women in labour market
Choose the correct answer from the options given below:

1. A only
2.Bonly
3. Conly
4.D and E only

(1) 1
) 2
3) 3
(4) 4

RIfGq Bl ARIHR FRfaRad § 4 o (e avar a7
A. TR FIfaadm 0T &1 Uishar

8. Ifiavur = el & o i I9R &1 9o foan &
C. 31 SR H &l ot yrfiedi 981 8

D. TRI B (efi-Ta1 &f ufshan

£ 37 S9R H 5l B YFieR 921 §

5 o 0 e A9 T SR T

1. Had A
2. $dq B
3. ®Haa C
4. %ad D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38933] Question Description : dwbv_pg_scy_eng_2_q58
2[Option ID=38934]

3[Option ID=38935]
4[Option ID=38936]

Sl. No.59
QBID:5059

Caste is derived from a word from a language used in the Iberian peninsula. The word is:

1. Casata
2. Cazata
3. Casta

4. Castez




1) 1
(2) 2
(3) 3
(4) 4

Wife Bl 3T UTaely 3 uged W 4 0o T § o T 81 I &

1. HEET
2. B
3. BT
4. B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38937] Question Description : dwbv_pg_scy_eng_2_q59
2[Option ID=38938]

3[Option ID=38939]
4[Option ID=38940]

Sl. No.60
QBID:5060

The universe of units from which a sample is to be selected is called :

1. Population
2. Survey

3. Reliability
4. Validity

(1) 1
(2) 2
(3) 3
(4) 4

SRl &1 a8 S Y Uides! @1 99+ 1 o1 8, 98 dean 6:

1. SEEA
2. A&

3. fayg-gan
4. qeaT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38941] Question Description : dwbv_pg_scy_eng_2_q60
2[Option ID=38942]

3[Option ID=38943]
4[Option ID=38944]

Sl. No.61
QBID:5061

Who among the following was influenced by Foucault's ideas of Body, Self, Society and Power?

1. Jeremy Bentham

2. Bryan 5. Turner

3. Ferdinand de Saussure
4. Theodor Adorno




1) 1
(2) 2
(3) 3
(4) 4

afiiad & 9 @ Tol & IR, W, AN AR Alad & ax | Gar! 9 wyifad a1

1. oIeHt dyH\

2. fFgH T R
3. BIGAG & HR
4. TY3fSR waA

1)
(2)
(3)
(4)

A W N R

1[Option ID=38945] Question Description : dwbv_pg_scy_eng_2_q61
2[Option ID=38946]
3[Option ID=38947]
4[Option ID=38948]

Sl. No.62
QBID:5062

Match List | with List Il

List | List 1l

Work Scholar

A. Kinship Organization in India l. M.N. Srinivas
B. Caste, Class and Occupation 1. M.K. Gandhi
C. Caste in Modern India and Other Essays|lll. Irawati Karve
D. Hind Swaraj IV. G.S. Ghurye

Choose the correct answer from the options given below:

TA-ILBE-IV,C-1,D-1
2ZA-IL,B-1LC-IV,D-1I
3A-IV,B-ILC-1LD-I
4A-1L,B-IV,C-1Il,D-1

1)
(2)
(3)
(4)

Tt -1 B gt -1 o gAfed St

A W N R

Il -1 B Il -11 ST

A TR FEeEE 24 5 . TH. T, fifHEe
8. T, TTH TS HIGgUIH II. T, &. TR

C. PR 3 Al 3801 U8 36 1o I, 39 B

D. &g TR+ V. S O, o
Jr= feu e fadent § 9 98l IR g

TA-ILE-IV,C-1, D-1
2ZA-ILB-LC-IV, D-1I
3A-IV,B-ILC-1I, D-1
A A-1LB-IV,C-1ll, D-1




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38949] Question Description : dwbv_pg_scy_eng_2_q62
2[Option ID=38950]

3[Option ID=38951]
4[Option ID=38952]

Sl. No.63
QBID:5063

Deductive study represents the commonest view of the nature of the relationship between theory and social research. The
chronological process of deduction is :-

A. Theory

B. Revision of Theory

C. Hypothesis

D. Hypothesis confirmed or rejected

E. Data collection and finding's analysis

Choose the eorrect answer from the options given below:

1.A B CDE
2ACEDEB
3.ECD AB
4 CEDAEB

(1)1
(2) 2
(3) 3
(4) 4

S seme, RS w@ aferd SdyH & 09 W6y & Ueia &1 Ui 2P0 TRd @dl ¢ | FeE @1 saasis
ufehar &

A Togid
8. Fgid &1 9=
C. UR@eaAl

D. UR® T T DR Tl DR
E. Sid el 4Ug Ud Fhy @l favaiyor
< T e fadenl o U 98l SR g :
1.A,B,C D,E
2.A,CEDB

3.3 ECDAB
4.CEDAEB

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=38953] Question Description : dwbv_pg_scy_eng_2_q63
2[Option ID=38954]




3[Option ID=38955]
4[Option ID=38956]

Sl. No.64
QBID:5064

Who has talked about the Communicative Action?

1. Pierre Bourdieu
2. Manuel Castells
3. Jurgen Habermas
4. None of these

1)
(2)
(3)
(4)

gfatad o @ oo TumuEs fear & sR | 99f @1 87
1. o aifeg.
2. Bq0q decd
3. O gERHE
4. 3udad H U B a1

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=38957] Question Description : dwbv_pg_scy_eng_2_q64
2[Option ID=38958]
3[Option ID=38959]
4[Option ID=38960]

Sl. No.65
QBID:5065

Who gave the concept of 'I' and 'Me"?

1. Radcliffe-Brown
2. Alfred Schutz

3. Erving Goffman
4. G. H. Mead

1)
(2)
(3)
(4)

A W N R

ofaRad & O o oM 3R O &1 3guRun ueH &1 4z

1. LSfoam-g34
2. HEhs I
3. 3fa THET
4.5 04, |18

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38961] Question Description : dwbv_pg_scy_eng_2_q65
2[Option ID=38962]




3[Option ID=38963]
4[Option ID=38964]

Sl. No.66
QBID:5066

Crypto-religion is defined as -

1. an unconscious religious attitude directed towards an inadequate object.
2. a conscious understanding of rituals.

3. a disbelief in supernatural power.

4. None of the above

1)
(2)
(3)
(4)

A W N R

forp-ReiforaT @i fow wu o ufvya fea war 2

1. MUY I UR e U 3rdd YiiHe Sfigh
2. 3FHI B Godd 9as

3. Heifhe Mg o Ay

4. SREE D18 el

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=38965] Question Description : dwbv_pg_scy_eng_2_q66
2[Option ID=38966]
3[Option ID=38967]
4[Option ID=38968]

Sl. No.67
QBID:5067

Given below are two statements:

Statement I: Inventions are the wheels on which technology advances

Statement II: Inventions do not affect social or cultural orders

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
(4) 4




HYA - | TR 9 UfRY &, o IR eIt 3aid Sl 8 |
THUA - || : HTEHR JHToT® 1 T odawd] &I JHIad Te] od |
Iuded Syl & 3Tl | FiciRad fadedl § 9 98l ST -

1. YT | 3R 1 ST G E

2. @ 1 R 11 EF1 TTad 8|

3. 7Y 1 9 B, g dYF 11 T B |
4. @Y | 39 B, fog U 1 Tl Bl

1)
(2)
(3)
(4)

A W N R

1[Option ID=38969]
2[Option ID=38970]
3[Option ID=38971]
4[Option ID=38972]

Question Description : dwbv_pg_scy_eng_2_q67

Sl. No.68
QBID:5068

‘Indian Sadhus’ is an excellent sociography written by :

1. M.N. Srinivas

2. B.R. Ambedkar

3. G.S. Ghurye

4. Radha Kamal Mukerjee

1)
(2)
(3)
(4)

A W N =

507 Ty UP IHP THEET (@IREEE) §, e aEs o &

1. 0. T, difHa
2. 9. 3R, AEEH
ERE IR |

4. T THHS TG

1)
(2)
(3)
(4)

A W N R

1[Option ID=38973]
2[Option ID=38974]
3[Option ID=38975]
4[Option ID=38976]

Question Description : dwbv_pg_scy_eng_2_q68

Sl. No.69
QBID:5069




Anthony Giddens has talked about -

1. Neutral Space

2. Time-Space Distanciation
3. Placeless Space

4. All of these

1) 1
(2) 2
3) 3
(4) 4

oy g A Fefafed & 3 feus! 9af a1 &2

1. o ®F (ed w9)
2. DI-RIH gD (C13H -y feRmEm)
3. YFRigd ®IF (WEad T

4. 3udad i

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38977] Question Description : dwbv_pg_scy_eng_2_q69
2[Option ID=38978]

3[Option ID=38979]
4[Option ID=38980]

Sl. No.70
QBID:5070

“Totem" refers to -

A. A group of people who live in hills and forests

B. Unholy objects of everyday life

C. Animals, plants or other objects which are held in special regard

D. An individual who practices occultism

E. An object, different from ordinary, that creates an attitude of reverence
Choose the correct answer from the options given below:

1. A B and Conly
2.Band D only
3.Cand E only

4. A B, Cand D only

(1)1
(2) 2
(3) 3
(4) 4




A. TGl &1 Ud 9, o Ue1isal 3R i & Bd &
B. &Hife @1 rufaz axgul

C. 93], UTEY 41 3= a%¢, foFe! fa=iy G f&ar < g1

D. U@ oAfdd, 9l d3-H7 (SIg-2iHl) dXal o
E. O ¥ o U o, o ST 14 Ual Sl 6
i< U 7Y fadhedl # 9 el IR 44 -
1.®ad A, B3RC
2.®dd B R D

3. HaAC IR E
4.FHTAA, B, CHRD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38981] Question Description : dwbv_pg_scy_eng_2_q70
2[Option ID=38982]

3[Option ID=38983]
4[Option ID=38984]

Sl. No.71
QBID:5071

Alfred Schutz's approach falls in the philosophical tradition of :

1. Ethnomethodology

2. Phenomenology

3. Dramaturgical Perspective
4. Symbolic Interactionism

(1) 1
() 2
3) 3
(4) 4

HShS Yo &1 SUNH FFEfdiiad & ¥ ford Gl AR & Sfdiid Sai g 2
1. ToaUSTRRd (@AmSTEre

2. TIeHIEIG (BHEATds)
3. AT URUE (SHef e ueufda)

't Fut

4. UdihIHS 3id:fpamarg (Faifts eiuai—e)

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38985] Question Description : dwbv_pg_scy_eng_2_q71
2[Option ID=38986]

3[Option ID=38987]
4[Option ID=38988]

Sl. No.72
QBID:5072




Match List | with List 11

List | List Il

Concepts Thinkers

A. Disembedding l. Donna Haraway
B. Scientific Management|ll. Anthony Giddens
C. Cyborg ll. FW. Taylor

D. Hyperreality IV. Jean Baudrillard

Choose the correct answer from the options given below:

TA-LBE-IV,C-1IL,D-I
2ZA-IV,B-IILLC-II,D-1
A-ILB-LC-1I,D-1IV
448-1LB-I,C-1,D-1IV

1)
(2)
(3)
(4)

A W N R

Tl -1 & gt -1l | gHfed st -

il -1 HAYROMY LEIBIREGRED

. feosmfEn (ufiedm) 1. S &3

B. d91H® HEeH I1. T fre=g

C. grganrt IIl. U, &Y, ¢
D.Jifagurdar EEwiufRid) Iv. o Sifgars
o fGu U fadeat & 9§ 98l S g :

TA-LE-IV,C-1IL,D-1
2ZA-IV,B-1LC-I,D-1
A-ILB-LC-1I,D-1IV
4458-1LB-I,C-1,D-IV

1)
(2)
(3)
(4)

A W N R

1[Option ID=38989] Question Description : dwbv_pg_scy_eng_2_q72
2[Option ID=38990]
3[Option ID=38991]
4[Option ID=38992]

Sl. No.73
QBID:5073




Chronologically arrange the following historical events -
A. French Revolution

B. Rise of Feminism

C. Rise of Socialism

D. American Revolution

E. European Renaissance

Choose the correct answer from the options given below:

1T.AEBCD
2.ED ACEB
3.0,ACBE
4. E A CBD

(1) 1
) 2
3) 3
(4) 4

Fafeiad Uaeitd ge-rsll @] dIaHHER Haleyd Sifu|
A. TR wifa
B. ARIdIg &T 3ad

C. THIAIG &1 364
D. HR®I Hifd

£. QUtEH TeITRo

i feu e fadheal # U Ugl IR 94 :
1.A E B CD
2.ED,ACEB

3.0,A, CBE
4. EACBD

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38993] Question Description : dwbv_pg_scy_eng_2_q73
2[Option ID=38994]

3[Option ID=38995]
4[Option ID=38996]

Sl. No.74
QBID:5074

Which of the following practice prevents sex relations between parent and child or between brother and sister?

1. Rules of Commensality
2. Rules of Succession

3. Incest taboo

4. None of the above

1) 1




) 2
3) 3
(4) 4

Fafaiad o 9 ®F-T 7yl ATd1-10a1 iR S & 78 3Yal UTs 3R 964 & 79 44 (@) 98¢ 54 9 Jodl a7

1. GgHifoa & fam
2. SRIYHR & Faa
3. F@erfipm= ey
4. IR E Y H1E T8l

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38997] Question Description : dwbv_pg_scy_eng_2_q74
2[Option ID=38998]
3[Option ID=38999]
4[Option ID=39000]

Sl. No.75
QBID:5075

Malinowski did his anthropological field work among -

1. Trobriand Islanders
2. Andaman Islanders
3. Tutuila Islanders
4. lonian Islanders

1)
(2)
(3)
(4)

Afere! = b sig ST Jeidig & e faa ar

1. Sifeds gigart
2. 3 gigart
3. Cgall giyardl
4. HEIEA giaardt

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=39001] Question Description : dwbv_pg_scy_eng_2_q75
2[Option ID=39002]
3[Option ID=39003]
4[Option ID=39004]

Sl. No.76
QBID:5076

William Foote Whyte's "Street Corner Society” is an example of :
1. Participant observation
2. Participatory Action Research

3. Risk Society
4. Globalisation of labour

1) 1




) 2
3) 3
(4) 4

PN ¥

fafer™ Ee ®I5e 31 "Eie BT 99l Fgifed fbgm! Ue 36e 6:

1. YT facieA

2. HIiGRT SeTid fhar s
3. SifEge-ga

4. 51 B IHTHI0

1)
(2)
(3)
(4)

A W N R

1[Option ID=39005] Question Description : dwbv_pg_scy_eng_2_q76
2[Option ID=39006]
3[Option ID=39007]
4[Option ID=39008]

Sl. No.77
QBID:5077

The study of the processes of ageing, old age and the elderly is known as -

1. Gerontology

2. Genealogy

3. Human Ecology

4. None of the above

(1)
(2)
(3)
(4)

aS g (TSR, JEIaRT (HITS U9) SR UIg BH &1 Uehal & e &I oidl &:

1. SRSl
2. St
3. §gA gIaiton
4. IRNad BI5 ol

A W N R

1)
(2)
(3)
(4)

A W N =

1[Option ID=39009] Question Description : dwbv_pg_scy_eng_2_q77
2[Option ID=39010]
3[Option ID=39011]
4[Option ID=39012]

Sl. No.78
QBID:5078

The author of the book, The Gift : The Forms and Functions for Exchange in Archaic Societies is:

1. Howard Becker
2. Ulrich Beck

3. Marcel Mauss
4. Alain Touraine

1) 1




2) 2
3) 3
(4) 4

o
w

g [t § B U8 HaRi~g Bk Uadd 34 Sfics® Hiescia Ui & oEd & -

1. B1G8 9P
2. 3ANd 4@
3. gRYq 91
4. 3T 23H

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39013] Question Description : dwbv_pg_scy_eng_2_q78
2[Option ID=39014]

3[Option ID=39015]
4[Option ID=39016]

Sl. No.79
QBID:5079

Which of the following statement/statements is/are true?

A. Durkheim did not believe that Gods are man-made symbols of society.
B. Durkheim thought that all religion originated in totemism.

C. Durkheim studied the religious practices of African tribes.

D. Durkheim offered a theclogical explanation of religion.

E. Durkheim did not believe that the tribe (aborigin) he studied represented a stage of evolution that every society should
pass.

Choose the correct answer from the options given below:

1. A only
2.Bonly
3.Cand E only
4.D only

1) 1
(2) 2
3) 3
(4) 4




FrafaRad # ¥ @FE)/@ Y &Y 9l 8/8?

A. GEIZH & U8 HIFAT 18! ol {6 $%4% Y9 & HH4a-MHiHd Udld €|
B. G@ISH @1 A1 4T o 9oft off &1 325 2leHars 4 g1 &

C. GEIgH = BB Sad DI UiHe uursi &1 =g fdbar|

D. g@IgH 4 ¥H B YHRS HH Y U&id 1|

E. GEISH ®I 98 AFAT T8l YT {6 3514 o1 Siilid (Taiiiei) B T a1, 98 Iamy & U 930 &l Wid-iid ®edl 6,
T8 U@ TAN @I oAl 9Iet]

i feu e fasdheal 5 U U8l IR 94 -
1. BT A
2. %ad B

3. HIACAHRE
4.%dd D

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=39017] Question Description : dwbv_pg_scy_eng_2_q79
2[Option ID=39018]

3[Option ID=39019]
4[Option ID=39020]

Sl. No.80
QBID:5080

The Intended and Recognized consequences of Social Action upon other social actors or institutions is :

1. Latent Function
2. Dysfunction

3. Manifest Function
4. All of the above

1) 1
(2) 2
3) 3
(4) 4

3 UGG Yal T IR IHfed foar & ity SR Araamra afvons &:-

1. 3UHE BT
2. AugEH

3. U®He U
4. IURad gt

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39021] Question Description : dwbv_pg_scy_eng_2_q80
2[Option ID=39022]

3[Option ID=39023]
4[Option ID=39024]

Sl. No.81
QBID:5081




Who said this, "Civilisation is higher stage of cultural development characterised by intellectual, aesthetic, technological and
spiritual attainment.”?

1. Maclver and Page
2. 5. M. Fairchild

3. Robert Biersted
4. Gillin and Gillin

1)
(2)
(3)
(4)

A W N =

e g Bl UT - "9l GRGIad [dbTH BT TG 90 &, Sl sliad, GieduRd, WNDY AR Aidd el ¥ i
gIargl

1. 9PIEaR U4 U
2. THUH, BOEEE
3. 3§ IR
4. Tifer w4 fifem

1)
(2)
(3)
(4)

A W N R

1[Option ID=39025] Question Description : dwbv_pg_scy_eng_2_q81
2[Option ID=39026]
3[Option ID=39027]
4[Option ID=39028]

Sl. No.82
QBID:5082

A type of marriage in which two or more women are legally mated to one man is known as

1. Hypogamy

2. Sororate

3. Polyandry

4. None of the above

1)
(2)
(3)
(4)

A W N R

TqaTe &1 98 TSR o & 3iyal e Afgan &4 g3y 9 fafis 9 8 i (Ud-ua) gidl €, 39 feu U SHI Sl g ?

1. Ufaa™ faare
2. 9rail f[darg

3. 9gufd faars

4. JRIT DI5 T8l

1)
(2)
(3)
(4)

A W N R

1[Option ID=39029] Question Description : dwbv_pg_scy_eng_2_q82




2[Option ID=39030]
3[Option ID=39031]
4[Option ID=39032]

Sl. No.83
QBID:5083

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Cross-cousins are cousins whose parents are brothers and sisters.

Reason (R) : In many tribal communities of Australia, cross-cousin marriages exist.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

(1) 1
(2) 2
(3) 3
(4) 4

T E P RUTUE: U@ & HUHYA (4) AR GO @I BRI (R) Hal ™ &l

G YH (A) : IH G Telalol d el o fomid Hidl-udl 3199 ¥ Yie-d8 8id ol
BRUI (R) : AR & D! S GHeHl H g1 Yglad [dalg Uyl fdedH= |
I BYAl & HeS H FEifed Aol § 9 w8l S| I -

1. (A) 3R (R) THT TET & 3R (R), (4) T TET ARAT B |
2.(A) 3R R aﬁfﬂﬁ%mﬁ )ﬁﬂﬁwqﬁ%
3. (A) W61 8 U R}ﬂ%ﬁ‘:@%l
4. (A) HEI T 8 IR (R) BT B
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=39033] Question Description : dwbv_pg_scy_eng_2_q83
2[Option ID=39034]
3[Option ID=39035]
4[Option ID=39036]

Sl. No.84
QBID:5084

Who among the following talks about three dimensions of power, (a) decision making (b) non-decision making and (c)
shaping desires?

1. Alvin Genldner
2. Anthony Giddens
3. Steven Lukes

4. Max Weber

1)
(2)
(3)
(4)

A W N R




FrofaRad & O o afea & dF 2mHf (a) fAvfa &R, () R-FAvfa &/, (o) n@ienet &1 aR &1, & IR H &el o7

1. Hifea SR
2. o e

3. o g

4. HF d

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39037] Question Description : dwbv_pg_scy_eng_2_q84
2[Option ID=39038]

3[Option ID=39039]
4[Option ID=39040]

Sl. No.85
QBID:5085

Which one of the following has analysed patterns of Conspicuous Consumption and Conspicuous Waste?

1. Thorstein Veblen

2. V. Pareto
3. W. G. Ogburn
4. Max Weber

(1) 1

() 2

3) 3

(4) 4

fafafad & O fege Tadd SUNHM IR Gd= afy & ufaami o fazay f5ar g2
1. YR daa
2. @1 IRl
3. 3&Y, ol HATEH
4, 75T dR

1) 1

2) 2

(3) 3

4) 4

1[Option ID=39041] Question Description : dwbv_pg_scy_eng_2_q85
2[Option ID=39042]
3[Option ID=39043]
4[Option ID=39044]

Sl. No.86
QBID:5086

Who among the following said this statement?

"Education is that part of total socialisation through which we learn those roles that are based on derived needs. Thus, we
call it as a process of secondary socialisation™.

1. Emile Durkheim
2. Yogendra Singh
3. T. K. Oommen
4. Andre Beteille

1) 1




2) 2
3) 3
(4) 4

Frafatad 7 4 fhue 98 v &2
~Fr&11 Tqul GAERT &1 a8 Y €, o AT ¥ 59 S YE@si @1 9Rad &, ol U Aaxadbarst R ARG eld 61359
UPR, 81 390! fad1a® TaH0 &l Updl & FUH ded al”

1. 39150 gEisH
2. 0% 8

3. . I
4. A= T

1)
(2)
(3)
(4)

A W N R

1[Option ID=39045] Question Description : dwbv_pg_scy_eng_2_q86
2[Option ID=39046]
3[Option ID=39047]
4[Option ID=39048]

Sl. No.87
QBID:5087

Match List | with List 11

List | List Il
Concepts/ldeas Thinkers

A. Tragedy of culture |. Pitrim A. Sorokin
B. Idealist culture Il. Thorstein Veblen
C. Industrial society lll. George Simmel
D. Conspicuous consumption|lV. Herbert Spencer

Choose the correct answer from the options given below:

T.A-ILB-LC-IV,D-1
ZA-LB-ILC-IV,D-1I
3.A-ILB-ILC-1L, D=1V
4AA-IV,B-1,C-1,D=-1I

1)
(2)
(3)
(4)

A W N =




Tt -1 B gt -1 o gAfed st

gl -1 YRy fdar gt -1l Fdad

A THE] AT Bk 1. OfeRA T gRifaA
B. HIGAIS! Tpid II. YT dEa

C. e T 111, Sifet e

D. GEIF JUYFT V. BYEE W
= fgu e fgdent & 9 9g IR g

T.A-ILE-LC-IV,D-1l
2ZA-LB-ILC-IV,D-1I
3.A-ILB-ILC-1L, D=1V
4A-IV,B-I,C-1, D-1I

1)
(2)
(3)
(4)

A W N R

1[Option ID=39049] Question Description : dwbv_pg_scy_eng_2_q87
2[Option ID=39050]
3[Option ID=39051]
4[Option ID=39052]

Sl. No.88
QBID:5088

Who coined the term 'Megalopolis'?

1. George Ritzer
2. Jean Piaget

3. Jean Paul Sartre
4. Jean Gottmann

1)
(2)
(3)
(4)

TR 2Meg & Yo fba fadr u1?
1. Slel SR
2. 1 Wl
3.1 Uie 9
4. 541 el

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=39053] Question Description : dwbv_pg_scy_eng_2_q88
2[Option ID=39054]
3[Option ID=39055]
4[Option ID=39056]

Sl. No.89
QBID:5089




Match List | with List 11

List | List I

Books Authors

A. Bureacracy in Modern Society I. Milton Singer
B. The McDonaldization of Society II. Peter M. Blau

C. Nation Building in Independernt India|lll. George Ritzer

D. When a Great Tradition Modernizes |IV. M. N. Srinivas

Choose the correct answer from the options given below:

TA-ILB-IL,C-IV. D~
ZA-LB-ILC-U,D-IV
3.A-ILB-IV,C-1,D-1l
4A-IV,B-1,C-1I,D=-1I

1) 1
() 2
3) 3
(4) 4

Tl -1 B gt -1l ¥ gAfd Biforg -

Tt - g Tt -1 TP

A SR 34 His- ARl |. e R

B. G U@ s HIEREH 3Hh YgHe] II. dieX uH. &1
c. TRH-fafegn 3= Tafeuse Sfem 111, S ok

D. 99 U I ¢f&8H HisAige Iv. T, T, e
i feu e fadpeal # O Ugl 3R gHU :

TA-ILB-IILC-1IV, D
2ZA-LEB-ILC-1L,D-1IV
A-ILEB-IV,C-1,D-1l
4A-IV,B-1,C-1,D-1I

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39057] Question Description : dwbv_pg_scy_eng_2_q89
2[Option ID=39058]

3[Option ID=39059]
4[Option ID=39060]

Sl. No.90
QBID:5090

Who among the following is associated with the concept of "functional emphasis"?

1. Davis and Moore
2.T. Parsons

3. Karl Marx

4. Max Weber

1 1




) 2
3) 3
(4) 4

fafafad # 9 @ “Uedid® 90+ B Saurun T d4g a7
1.ofAu TR
2. 31 uE

3. ®Id J1a
4. g de

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39061] Question Description : dwbv_pg_scy_eng_2_q90
2[Option ID=39062]

3[Option ID=39063]
4[Option ID=39064]

Sl. No.91
QBID:5091




Read the following passage carefully and answer the question that follows:

The thinking of early sociclogists was dominated by a conception of man and society seen progressing up definite steps of
evolution leading through ever greater complexity to some final stage of perfection. The general evolutionary model of
society is represented by a large number of specific thecries. Comte, for example, delineated three great stages through
which all societies must go - those of conquest, defense, and industry. For each, he enunciated a parallel step in the
development of man's thought, which he conceived as progressing from the theological through the metaphysical to arrive
ultimately at the perfection of Comte's own Positive Philosophy. While Spencer's scheme of evolution was much less
grandiose, he too took the position that sociology is “the study of evolution in its most complex form.”

The evolutionary model treated society as if there were an imminence inherent in man's social development which requires
that each stage appear in turn to play its role according to "natural law". This conception understandably tempted the
promulgators of social philosophies to capture the evolutionary theory and to use it in support of their political positions.
The American sociologist, William Graham Sumner, for example, justified the privileges of the advantaged classes over the
disadvantaged, on the grounds that such differentiation was a law of nature in keeping with the principle of the survival of
the fittest. Sumner, who has been labelled a "Social Darwinist”, used the idea of evolution, as had Spencer, to block efforts at
reform and social change, arguing that social evolution must follow its own course, dictated by nature. "That is why", he said,
"it is the greatest folly of which a man can be capable, to sit down with a slate and pencil to plan out a new social world.”

fFrafafas T F SeuFigEs ufen ofR 39F sTuR W 3T 7T vy %1 3w fif

U GHTSRIRE! & fid= H 39 HIYROT &1 WuHdl 4 & (60 YeR 339 9y 961 & 9y & gHiEd ol &f UR #R 9
HitDHdH Afeaar ¥ TeR®< guidl & H{dH R0 H Ugd 36 o | Y9I & YE [deryara) disd &1 [Heuu) s fafRiy fasidl §
30T T 8| IaTex & R 1 A iF 90l @1 9uiF o & foFd A1 ¥ o 96 &1 ToRAT 81 91fgtl 3 FF RO g - a9y,
TR YT JA| B TS & [0 999 &1 I9 &1 e & guiR W &t e g € st 3213 s ot 4t s o
UR-Tlif® o ATeH ¥ 8} alid® 9 HiHd ol 18] & AR T8 3fa: BT & 0+ TAIETES G- d@ Ugddl 6| Jaid WaR $f
famry Gadl TusEr oH oy o, Uil 3961 g8 YR 4 fds YHeRIRE waiite sicd 9 H faoy o SiedH gl

famrard Aisd # AN @I VRl HFT -1 I 59 & JHENG [dhr™ H Sl $@ sldi-ied o fodd (Y 98 Ha%0d o
& T o1 IR aR1 W UG © e “Widiad a9 & S8R T8 0 YHST (41 9 | ¥ § [ 39 S@uRon ¥ gEie
SEIF®! B A@HEaE & Hard ® SfiaH TY 9@ 394N 30 Je-iad Ufd 38 Te® 9 &1 ary 90 T8l &
U | Saleul & oy, Sie! THeRIRE! fafcrdd Jed 991 - giaumeitd dfeadl IR YaUTd dfdadl & ORNiiaR of 39
HYR R i 99/ i 98 9y argas & Saleliidal & G & S8R Udid &1 Hod g1 98, oY wHis
SifaHarg” @ U3l &l 715 5, - W i aie [der™ & [daR $1 SUTF YUR U9 YHlfed URdd & YaE &l U8 d@ ad gu a8
fou s WHIfo® fad™ ®f Udid g1 Sdi 10 AR U= doH1 diigU| 35i- 9l I8! &R ¢ & 4ad gg! Yd, &l A3 9 gl
Ul 8, 98 &, 968 wic IR URGd 21 & Udhs 3R U@ 444 SMElae S9R &I el 91 1

For William Graham Sumner, the law of nature based on the survival of the fittest justifies:

1. Privilege of the disadvantaged over advantaged
2. Privilege of the advantaged over disadvantaged
3. Equality between advantaged and disadvantaged
4. None of the above

(1) 1
(2) 2
3) 3
(4) 4




P

faferm UTeH 99 & SUR, IFGdH &1 Jaaliddl R 1HRd Ui & Fg8 gR1 FofaRad @f mifrd sexmr /™ g

1. gy Afdadl 1R giauraiad safdaal &f faemieR
2. giaureftd safdaal ) Qfaumid dfeadl @ [ARIuieR
3. G Safaad! auT Gfauraid safaadl & ard 9qHdl
4. J0YFd H Y B el

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39065] Question Description : dwbv_pg_scy_eng_2_q91
2[Option ID=39066]

3[Option ID=39067]
4[Option ID=39068]

Sl. No.92
QBID:5092

Read the following passage carefully and answer the question that follows:

The thinking of early sociclogists was dominated by a conception of man and society seen progressing up definite steps of
evolution leading through ever greater complexity to some final stage of perfection. The general evolutionary model of
society is represented by a large number of specific theories. Comte, for example, delineated three great stages through
which all societies must go - those of conquest, defense, and industry. For each, he enunciated a parallel step in the
development of man's thought, which he conceived as progressing from the theological through the metaphysical to arrive
ultimately at the perfection of Comte's own Positive Philosophy. While Spencer's scheme of evolution was much less
grandiose, he too took the position that sociclogy is “the study of evolution in its most complex form.”

The evolutionary model treated society as if there were an imminence inherent in man's social development which requires
that each stage appear in turn to play its role according to "natural law". This conception understandably tempted the
promulgators of social philosophies to capture the evolutionary theory and to use it in support of their political positions.
The American sociclogist, William Graham Sumner, for example, justified the privileges of the advantaged classes over the
disadvantaged, on the grounds that such differentiation was a law of nature in keeping with the principle of the survival of
the fittest. Sumner, who has been labelled a "Social Darwinist”, used the idea of evolution, as had Spencer, to block efforts at
reform and social change, arguing that social evolution must follow its own course, dictated by nature. "That is why", he said,
“it is the greatest folly of which a man can be capable, to sit down with a slate and pencil to plan out a new social world.”

FrafafEe i  geurigds 1ty ok 59% enuR W fiw g uy o1 3w difv

UTdH GHRIREA! & fid= H 39 HIUROT &1 uHEdl 4 & 69 YeR 339 941 9619 & oy & gHiEd ool &f IR $2 9
HEHH AT ¥ T[oRdR uidl & SifaH o0 H Ugd 38 8 | GHIS & IHF [adbreare] disd & Eau sHd [y fREial §
To5aT a1 81 IETER0 & AU S 3 dF 90 @1 qui [ & e mem 3§ off gue &t e & @i § 9 wmur g - e,
W& TUT I T TS & [ 9% B T & G § 0 R0 & FEiid 5 & et 354 s o1 4 & 98
UR-clifthd o HIeH Y gl diicdd o [HiEd 51 381 & 3R 98 3f<id: P & HU- TGS G ab Ugddl ¢ | Jeii IR $i
o Hatl Ul &F Yo I, Uit 3-d! 98 YR Ui & GHISIRIRG "gdiiu® dicd €U H [dhe &l HEgH g1
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U | IEIeRyl & oY, spdie! TaeRIE fafermd Aed 9a-R - glaurdia afdaal iR giasmna afddl & [GuieRr of 39
HYR R A 99/ i 98 fave drgas &1 Saielidal & G & -8R Udhid & Fod 81 98R, oY weis
SIidaIg" &I U S 713 &, 5 TR B a¥g [dd™ & [d9R &1 IR R Ud gHEifoid URdd- & WM &I 98 db od gu Hads
T fo gHTford fa@T &I Udld 3R §d) T AR IR 9941 9| I=H Sa/l "I98 @RU ¢ b 984 931 4, ol 749 9 &
THal 8, T8 &, 9oH Wi AR U 814 # U s 3R U 9414 gHIeid S9R S are-T s 1!




The thinking of early sociologists was dominated by a conception of man and society seen progressing up definite steps of
evolution leading to:

1. Greater independence and superiority
2. Greater dependence and complexity
3. Greater complexity and perfection

4. None of the above

1) 1
(2) 2
3) 3
(4) 4

TRIE{H TSR] & da- H 39 AGYRUT &1 T 4 i {69 ToR 9950 aU 90 Sfad™ & gH1Ed 90l &f UR &1 :

1. 3% WaFar au 4¥al 31 NG &2 I £
2. ffere faviar qur Sfeadl @1 ok 9g @ 2
3. 3% Wieadr 3R QuidT &1 X% 96 8 &
4. 3uded # Y D3 el

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39069] Question Description : dwbv_pg_scy_eng_2_q92
2[Option ID=39070]

3[Option ID=39071]
4[Option ID=39072]

Sl. No.93
QBID:5093




Read the following passage carefully and answer the question that follows:

The thinking of early sociclogists was dominated by a conception of man and society seen progressing up definite steps of
evolution leading through ever greater complexity to some final stage of perfection. The general evolutionary model of
society is represented by a large number of specific thecries. Comte, for example, delineated three great stages through
which all societies must go - those of conquest, defense, and industry. For each, he enunciated a parallel step in the
development of man's thought, which he conceived as progressing from the theological through the metaphysical to arrive
ultimately at the perfection of Comte's own Positive Philosophy. While Spencer's scheme of evolution was much less
grandiose, he too took the position that sociology is “the study of evolution in its most complex form.”

The evolutionary model treated society as if there were an imminence inherent in man's social development which requires
that each stage appear in turn to play its role according to "natural law". This conception understandably tempted the
promulgators of social philosophies to capture the evolutionary theory and to use it in support of their political positions.
The American sociologist, William Graham Sumner, for example, justified the privileges of the advantaged classes over the
disadvantaged, on the grounds that such differentiation was a law of nature in keeping with the principle of the survival of
the fittest. Sumner, who has been labelled a "Social Darwinist”, used the idea of evolution, as had Spencer, to block efforts at
reform and social change, arguing that social evolution must follow its own course, dictated by nature. "That is why", he said,
"it is the greatest folly of which a man can be capable, to sit down with a slate and pencil to plan out a new social world.”

Pt T o aeuritEs ufe R 39F amuR W T T vy 31 s ST

U GHTSRIRE! & fid= H 39 HIYROT &1 WuHdl 4 & (60 YeR 339 9y 961 & 9y & gHiEd ol &f UR #R 9
HiTDHdH FAfeaar ¥ TeR®R guidl & HTdH R0 H Ugd 6 & | Y9I & YE [adryare] disd @I vl s fafRiy fasidl §
Taa1 T 8| IETeX & I &1 A diF Tl @1 9uiF o & foFd A1 9§ ot 98 &1 oAl 81 91fgtl 3 fF IR0 € - faeg,
TR YT I IBH TS & [0 799 &1 Trg &1 e & IufR W &t FEfd g € st 323 s ot 4t i 0
R-Tfhd & W U 5@ difdd 4 [Hid 81 W61 & 3R I8 H=<id: B & T+ TIIETES a2 a@ Ugddl ol JIT TR 3
famry Gadl TusEr oH oy o, Uil 3961 g8 YR 4 fds YHeRIRE waiite sicd 9 H faoy o SiedH gl

famrard Aisd # AN @I VRl HFT -1 I 59 & JHENG [dhr™ H Sl $@ sldi-ied o fodd (Y 98 Ha%0d o
& Ui 91 IR aR1 ¥ UG © difds “Widiad a9 & S8R T8 0 YHST (41 9 | TF & i 39 S@uRn ¥ gEe
SEiF®! P G@HMaE & HGd ®f SfiaH TYl 9@ YA 30 Je-iae ufd o 58 T 91 &1 ary a0 T8l &1
| 3R & o, e ToeRire fAfem 9red IR A faukfad afdadl ) gy afedl & GRITieR o 59
HYR R i 99/ i 98 9y argas & Saleliidal & G & S8R Udid &1 Hod g1 98, oY wHis
Sifd-arg” @ U3l &l 715 5, - W i aie [ddr™ & [daR $1 IUTF GUR U9 YHlfed URdd & Yad &I U8 d@ ad gu a8
fu o WHIfo® fae™ @ Usid g1 Sdi 1 AR U= doH1 91| 35i- 9l “gg] &RU ¢ & 4ad 991 Yd, &l A3 9 gl
Ul 8, 98 &, 96@ Kic IR UMGd 81 H Udhs 3R U@ 4d9 SMElToe S8R @I el a91- 1

According to whom, sociclogy is the study of evolution in its most complex form?

1. Comte

2. Spencer

3. Sumner

4. All of the above

(1) 1
(2) 2
3) 3
(4) 4




Fgfeiad # ¥ foud SR, IfGHM™ &1 /58 allud dicd w4 & g2

1. B
2. T
3. AR

4. 3udea ot

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39073] Question Description : dwbv_pg_scy_eng_2_q93
2[Option ID=39074]

3[Option ID=39075]
4[Option ID=39076]

Sl. No.94
QBID:5094

Read the following passage carefully and answer the question that follows:

The thinking of early sociclogists was dominated by a conception of man and society seen progressing up definite steps of
evolution leading through ever greater complexity to some final stage of perfection. The general evolutionary model of
society is represented by a large number of specific theories. Comte, for example, delineated three great stages through
which all societies must go - those of conquest, defense, and industry. For each, he enunciated a parallel step in the
development of man's thought, which he conceived as progressing from the theological through the metaphysical to arrive
ultimately at the perfection of Comte's own Positive Philosophy. While Spencer's scheme of evolution was much less
grandiose, he too took the position that sociclogy is “the study of evolution in its most complex form.”

The evolutionary model treated society as if there were an imminence inherent in man's social development which requires
that each stage appear in turn to play its role according to "natural law". This conception understandably tempted the
promulgators of social philosophies to capture the evolutionary theory and to use it in support of their political positions.
The American sociclogist, William Graham Sumner, for example, justified the privileges of the advantaged classes over the
disadvantaged, on the grounds that such differentiation was a law of nature in keeping with the principle of the survival of
the fittest. Sumner, who has been labelled a "Social Darwinist”, used the idea of evolution, as had Spencer, to block efforts at
reform and social change, arguing that social evolution must follow its own course, dictated by nature. "That is why", he said,
“it is the greatest folly of which a man can be capable, to sit down with a slate and pencil to plan out a new social world.”

FafafEe i i aeurigds 1ty ok 59% enuR w g g uy %1 3w it

UTdiH GHRIRE! & fidq H 39 HIUROT &1 WuHEd 4 & 69 YeR 339 941 Y619 & (9™ & gHiEd ool &f UR &2 9
HIE A STl ¥ T[oR& Guidl & SifaH o0 H Ugd 38 8 | GHIS & IHY [adbreare] disd & Euu sHe [y fbEial §
To5aT a1 81 IETER0 & AU S 3 dF 90 @1 qui [ & e mem 3§ off gue &t e & @i § 9 wmur g - e,
TR&M 71 I 5 TGS & (08 0% & Ui @I (9B H TR o0 B FEiad (61 & oria! S+ dod-l &1 4 6 78
UR-cliitsd o HIeH Y g diicdd 4 [iEd g1 381 & 3R 48 3<0d: PR & U+ UIETHS G db Ugddl ¢ | Feid IR $i
o Hatl Ul &F Yo I, Uit 3-d! 98 YR Ui & GHISIRIRG "gdiiu® dicd €U H [dhe &l HEgH g1

fa@gardt Afsd & YO &1 U9 9F1 T8 9 59 & e e ¥ 16t $9 sdfifed & foue i a8 omewe 3
& Td® 0 a1 IR 4 UEqd §f it “WPpiad a9 & AHaR 98 30-1 YHdT AU 9o | W7 & [ 59 S[@uRun d gHrd
TEIF®! B A@Mae & HEd & SfaH TYT 39T YA 30 Je-iae ufd o 38 T 9 &1 ard 90 T8l &
U | IEIeRyl & oY, spdie! TaeRIE fafermd Aed 9a-R - glaurdia afdaal iR giasmna afddl & [GuieRr of 39
HYR R it 99/ i 98 fave argas &1 Saeeliidal & G & -8R Udhid & Fod 81 98R, oY weis
Sifdare 31 99 41 78 &, J W B @6 ToN & [TUR & Sui uR Ud 9Hifee URadd & UaM™ & 98 a@ &d g Sa9g
T fo gHTford fa@T &I Udld 3R §d) T AR IR 9941 9| I=H Sa/l "I98 @RU ¢ b 984 931 4, ol 749 9 &
THal 5, T8 &, 9oH Wi AR URd 814 H# U s 3R UF 9414 e S9R B Jre-T s 1!




Who has been labelled a "Social Darwinist"?

1. Sumner
2. Spencer
3. Both of the above
4. None of the above

1) 1
(2) 2
3) 3
(4) 4

afafad & @ g gmfee Sifdadt aam m 2z

1. 9

2. |\

3. 3udad Al

4. 3uded # Y D3 Tl

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39077] Question Description : dwbv_pg_scy_eng_2_q94
2[Option ID=39078]

3[Option ID=39079]
4[Option ID=39080]

Sl. No.95
QBID:5095




Read the following passage carefully and answer the question that follows:

The thinking of early sociclogists was dominated by a conception of man and society seen progressing up definite steps of
evolution leading through ever greater complexity to some final stage of perfection. The general evolutionary model of
society is represented by a large number of specific thecries. Comte, for example, delineated three great stages through
which all societies must go - those of conquest, defense, and industry. For each, he enunciated a parallel step in the
development of man's thought, which he conceived as progressing from the theological through the metaphysical to arrive
ultimately at the perfection of Comte's own Positive Philosophy. While Spencer's scheme of evolution was much less
grandiose, he too took the position that sociology is “the study of evolution in its most complex form.”

The evolutionary model treated society as if there were an imminence inherent in man's social development which requires
that each stage appear in turn to play its role according to "natural law". This conception understandably tempted the
promulgators of social philosophies to capture the evolutionary theory and to use it in support of their political positions.
The American sociologist, William Graham Sumner, for example, justified the privileges of the advantaged classes over the
disadvantaged, on the grounds that such differentiation was a law of nature in keeping with the principle of the survival of
the fittest. Sumner, who has been labelled a "Social Darwinist”, used the idea of evolution, as had Spencer, to block efforts at
reform and social change, arguing that social evolution must follow its own course, dictated by nature. "That is why", he said,
"it is the greatest folly of which a man can be capable, to sit down with a slate and pencil to plan out a new social world.”

Pt T o aeuritEs ufe R 39F amuR W T T vy 31 s ST

U GHTSRIRE! & fid= H 39 HIYROT &1 WuHdl 4 & (60 YeR 339 9y 961 & 9y & gHiEd ol &f UR #R 9
HiTDHdH FAfeaar ¥ TeR®R guidl & HTdH R0 H Ugd 6 & | Y9I & YE [adryare] disd @I vl s fafRiy fasidl §
Taa1 T 8| IETeX & I &1 A diF Tl @1 9uiF o & foFd A1 9§ ot 98 &1 oAl 81 91fgtl 3 fF IR0 € - faeg,
TR YT I IBH TS & [0 799 &1 Trg &1 e & IufR W &t FEfd g € st 323 s ot 4t i 0
R-Tfhd & W U 5@ difdd 4 [Hid 81 W61 & 3R I8 H=<id: B & T+ TIIETES a2 a@ Ugddl ol JIT TR 3
famry Gadl TusEr oH oy o, Uil 3961 g8 YR 4 fds YHeRIRE waiite sicd 9 H faoy o SiedH gl

famrard Aisd # AN @I VRl HFT -1 I 59 & JHENG [dhr™ H Sl $@ sldi-ied o fodd (Y 98 Ha%0d o
& Ui 91 IR aR1 ¥ UG © difds “Widiad a9 & S8R T8 0 YHST (41 9 | TF & i 39 S@uRn ¥ gEe
SEiF®! P G@HMaE & HGd ®f SfiaH TYl 9@ YA 30 Je-iae ufd o 58 T 91 &1 ary a0 T8l &1
| 3R & o, e ToeRire fAfem 9red IR A faukfad afdadl ) gy afedl & GRITieR o 59
HYR R i 99/ i 98 9y argas & Saleliidal & G & S8R Udid &1 Hod g1 98, oY wHis
Sifd-arg” @ U3l &l 715 5, - W i aie [ddr™ & [daR $1 IUTF GUR U9 YHlfed URdd & Yad &I U8 d@ ad gu a8
fu o WHIfo® fae™ @ Usid g1 Sdi 1 AR U= doH1 91| 35i- 9l “gg] &RU ¢ & 4ad 991 Yd, &l A3 9 gl
Ul 8, 98 &, 96@ Kic IR UMGd 81 H Udhs 3R U@ 4d9 SMElToe S8R @I el a91- 1

According to which scholar, all societies must go through the stages of conquest, defense and industry?

1. Durkheim
2. Marx

3. Comte

4. Weber

(1) 1
(2) 2
3) 3
(4) 4




Fufeiad o 9 & fagH & S 9R A $I [qor, YR aUT I°RT & @RI Y ISRAT ol dliel?
1.gEH

2. 9@
3. B
4.dR

1) 1

() 2

(3) 3

4) 4

1[Option ID=39081] Question Description : dwbv_pg_scy_eng_2_q95
2[Option ID=39082]
3[Option ID=39083]
4[Option ID=39084]

Sl. No.96
QBID:5096

Read the following passage carefully and answer the question that follows:

Recently, Ghanshyam Shah (1990) has published a very important and well documented review of literature on social
movements of India in which, beside other dimensions, different typologies of tribal movements have also been described. L.
K. Mahapatra (1972) applies the typologies widely used for social movements to tribal movements. He describes these as (1)
reactionary (2) conservative, and (3) revisionary or revolutionary. The reactionary movement tries to launch a movement to
bring back ‘the good old days’; whereas the conservative movement tries to maintain the status quo. The revisionary or
revolutionary movements are those which are organised for 'improvement’ or "purification’ of the cultural or social order by
eliminating "evil’ or 'low’ customs, beliefs or institutions. Surajit Sinha (1968) classifies the movements into (1) ethnic rebellion
(2) reform movements (3) political autonomy movements within the Indian Union (4) Secessionist movements, and (5)
agrarian unrest. K.S. Singh (1983a) makes more or less the same classification except that he uses the terms Sanskritization
instead of reform movement and cultural movements instead of ethnic movements. For brevity Ghanashyam Shah (ibid) has
reformulated the typologies as follows: (1) ethnic movements (2) agrarian movements and (3) political movements. Not only
is there a great deal of overlapping among all three types, but they are also interconnected and one leads to the other.

Frafafaa e $ ufey ok i e usit ¥ I i

BT H TG 1§ (1990) 7 HRA & FHI® SHaieHl R U@ 9gd Aoaqyl AR Guciiad Slied JHIAT HHiiR @i & foraH o
IO & Hfaliad, Sudg Hala-! © fGfid Uy a9He e &1 fade- (ol T4 §1 Ta.0. HeNH (1972) gHiv®
HigIeHl ¥ SHSIY HigieHl o ou® ¥4 4 UEY [d371H &1 S{aiT Hd &1 98 (1) Uiihaamt (2) ®iedd! iR (3) Hifdsrl
HTeleH & ¥ ¥ 3] 30U S o) Uiafhamard] sfaieH s A G &l amy aF gg el URY &34 & Ua8 &3 ©,
Saich wigalal / GXEUEIG] HigioH Ul RUfd S0 T o W &Xd & | YRIYaTal a1 hildeRl S d g o 6w / 9w
1 g dfafearl, [ ar gensi & A1 $Ra Gk id 91 GHfold el H guR' 1 GRERRT & &Y S fu o &1
TRid g1 (1968) HfEITH! @I (1) I A8 (2) GUR AEeH (3) HRA™ 9 & Sfaiia Jomiad araadl (4) Sermaarg!
g 3R (5) P 3aN & ®U F Tifpd o3d ol $.09. U (1993) QYR & 9ed YPaH0 3R W Heia-t 3 o8
Tipiad HiGlcH sal & UANT & WY GHIER dg] R B0 Bd ¢ | Y& U H U-=0H 8 (da)) 5 IRy dFIi-d Flao &l
U UBR 4 Ufduiicd faar 2 : (1) 9 SiaeH (2) P el R (3) Aa-iide siaiad| 4 @ dHf UeR dad e
&1 98l § dicd d Td: Yad 3R U gae &I 3R ST W g

L. K. Mahapatra describes social and tribal movements as:

1. Ethnographic, conservative and innovative
2. Reactionary, innovative and evolutionary
3. reactionary, conservative and revisionary
4. None of the above




1) 1
(2) 2
(3) 3
(4) 4

Ud.&. HETUHET 3 GHEe 3R SdM sieiem! o Fafeied 3 3 g w0 § fGefaa o g2

1. oI, Eigare! AR Faa]

2. Ufaferamard], FarEn ¢ fdegarg!
3. ufafcpanarcy, Eieargl iR geie=arg!
4. 3udad # IS o1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39085] Question Description : dwbv_pg_scy_eng_2_q96
2[Option ID=39086]

3[Option ID=39087]
4[Option ID=39088]

Sl. No.97
QBID:5097

Read the following passage carefully and answer the question that follows:

Recently, Ghanshyam Shah (1990) has published a very important and well documented review of literature on social
movements of India in which, beside other dimensions, different typologies of tribal movements have also been described. L.
K. Mahapatra (1972) applies the typologies widely used for social movements to tribal movements. He describes these as (1)
reactionary (2) conservative, and (3) revisionary or revolutionary. The reactionary movement tries to launch a movement to
bring back 'the good old days’; whereas the conservative movement tries to maintain the status quo. The revisionary or
revolutionary movements are those which are organised for 'improvement’ or "purification’ of the cultural or social order by
eliminating "evil’ or 'low’ customs, beliefs or institutions. Surajit Sinha (1968) classifies the movements into (1) ethnic rebellion
(2) reform movements (3) political autonomy movements within the Indian Union (4) Secessionist movements, and (5)
agrarian unrest. K.S. Singh (1983a) makes more or less the same classification except that he uses the terms Sanskritization
instead of reform movement and cultural movements instead of ethnic movements. For brevity Ghanashyam Shah (ibid) has
reformulated the typologies as follows: (1) ethnic movements (2) agrarian movements and (3) political movements. Not only
is there a great deal of overlapping among all three types, but they are also interconnected and one leads to the other.

Fafafad e 31 ufey ok iy T ust ¥ S difve:

BT H U-TRUM g (1990) - HRA & WHIS® HigeHl W Ud sgd Hea@yul 3R uciiad diied THian YR of ¢ s g
AHOME & AfaRed, Fedg HiaieH & [&Ofid Uy 39 Jifieu &1 fad=- fear T §1 va.. H8/H (1972) 9Hie
HIGIEH! ¥ ST HiGIaH! g oaa® ¥4 § Ty [G9 & S04 ®Xd &1 98 (1) WKt (2) ®fiear! 4R (3) Hifldent
HGIeH & €U J 301 aUiH B & | Wiafhamarg] SiaeH a8 M &A1 @ ag aH g el WRY B & Wad avd &,
Saich wigalal / YREUEIGT HigioH Tyl FUf SHIT W o WM &3 ¢ URIeFaTe! a1 hilddRl ieiaH d § o &2 / 91w
1 35 dfafearar, fasrar ar geasil o fa-1 dra Wik id U1 FHfeid dawdl H YUR' 1 UREHIr & foy Siferd fby i g1
Rl g1 (1968) HiGIaH! @I (1) WY fdgig (2) GUR ialcH (3) HRA™ Y & 3iaid Joiiad Cidadl (4) Siciladig)
HiGIH AR (5) P AN & EU H Fildd Bd 51 .04, &8 (1983) IR & 9500 SRPIADH SR WA HaieHl B e
P iam 3G Wsal & WAl & UTY HHET del e ®id &1 Séd 9 § 99394 218 @a) - Iy dqi-a el ®f
39 THR 4§ uiduiied o 8 : (1) 9 SiaieH (2) B el SR (3) Toriae ead| T Jff &Ff teR daq Reaera
B gl ¢ dich d Wad: YalUd 3R Ub i BI 3R TR i g




Who has recently published a well documented review of literature on social movements

1. L. K. Mahapatra
2. Ghanshyam Shah
3. K. S. Singh

4. All the above

(1)
(2)
(3)
(4)

YRd § B1d § 9HIie® Jffaia-l R guafad aifed gHian fegd nefia @1 82

A W N R

1. U9, &. HET9rT
2. 990 8
3.®%. 19 flig
4. 3udad i

1)
(2)
(3)
(4)

A W N R

1[Option ID=39089] Question Description : dwbv_pg_scy_eng_2_q97
2[Option ID=39090]
3[Option ID=39091]
4[Option ID=39092]

in India?

Sl. No.98
QBID:5098




Read the following passage carefully and answer the question that follows:

Recently, Ghanshyam Shah (1990) has published a very important and well documented review of literature on social
movements of India in which, beside other dimensions, different typologies of tribal movements have also been described. L.
K. Mahapatra (1972) applies the typologies widely used for social movements to tribal movements. He describes these as (1)
reactionary (2) conservative, and (3) revisionary or revolutionary. The reactionary movement tries to launch a movement to
bring back 'the good old days’; whereas the conservative movement tries to maintain the status quo. The revisionary or
revolutionary movements are those which are organised for 'improvement’ or "purification’ of the cultural or social order by
eliminating "evil’ or 'low’ customs, beliefs or institutions. Surajit Sinha (1968) classifies the movements into (1) ethnic rebellion
(2) reform movements (3) political autonomy movements within the Indian Union (4) Secessionist movements, and (5)
agrarian unrest. K.S. Singh (1983a) makes more or less the same classification except that he uses the terms Sanskritization
instead of reform movement and cultural movements instead of ethnic movements. For brevity Ghanashyam Shah (ibid) has
reformulated the typologies as follows: (1) ethnic movements (2) agrarian movements and (3) political movements. Not only
is there a great deal of overlapping among all three types, but they are also interconnected and one leads to the other.

FraferfEa e $1 ufe o T e ust & Sw S

BIKT H 94RGH W (1990) 7 HRA & AN SiaieHl R U dgd Heaqul SR Guciiad Hiied JHI&T Wbk &1 & oraH 3
IO & Hfaltad, Sudg Halaq! © fGfid 0%y a9He T® &I fade- (ol T4 §1 Ta.0. He/NH (1972) gHie
HiGITH! T TG HaaH! g o0® €U U WY fa9H 1 308 &3d ¢ 98 (1) Wiifsamard! (2) Ffeae! AR (3) Hifdert
HieleH & ¥ § 3] 9uH S ¢ | Hfafeamardl siaieH s A AT & amuy aF 8g el URY &3 & 098 & ©,
Saich wigdlal / YIEUIEIG] HigioH Tyl RUfd ST TE- o W &3d ¢ Y=IYHaTal a1 sildeRl #igie- d § o 6w / 9w
1 35 dfafearal, fasma ar gensi & a1 dRa Yk id 41 GEifeid el H guR' 1 GREHIT & foY i fht =i &
TRl R (1968) HGIGH! B (1) WIdY A58 (2) GUR HiEleH (3) HRA™ Y & 3faid JAoriiad Qradadl (4) Seradrg)
HE 3R (5) P AN & T F Fifpd o3d o $.09. T (1993) QYR & 960 TPaH0 3R ST Aeia-t $ o8
ipidd il Wsal & UART & Ty HHE del aiid0] Hd ¢l i U § 99391 18 (@) - UFJ dq1i-e T ie i
U UHR 4 uiduiicd fasar 2 : (1) S SieieH (2) PV sfiaieH 3R (3) AeHiidd e 4 @i dH UhR dad e
&1 8l ¢ dicd d Wd: YalUd 3R U gil &I 3R TR W g

The reactionary movement tries to launch a movement to:

1. Bring back the good old days.

2. Maintain the status quo

3. Eliminating evil or low customs, beliefs or institutions.
4. All the above

1) 1
(2) 2
3) 3
(4) 4

ufafsamard sigia feas o g Ry &3 1 Uar™ &3dl o7

2. QYITRYT §1C T & e
3. F Sfafa, oyt o deret & 3= &g
4. 3udea ot

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=39093] Question Description : dwbv_pg_scy_eng_2_q98
2[Option ID=39094]




3[Option ID=39095]
4[Option ID=39096]

Sl. No.99
QBID:5099

Read the following passage carefully and answer the question that follows:

Recently, Ghanshyam Shah (1990) has published a very important and well documented review of literature on social
movements of India in which, beside other dimensions, different typologies of tribal movements have also been described. L.
K. Mahapatra (1972) applies the typologies widely used for social movements to tribal movements. He describes these as (1)
reactionary (2) conservative, and (3) revisionary or revolutionary. The reactionary movement tries to launch a movement to
bring back ‘the good old days’; whereas the conservative movement tries to maintain the status quo. The revisionary or
revolutionary movements are those which are organised for 'improvement’ or ‘purification’ of the cultural or social order by
eliminating "evil’ or 'low’ customs, beliefs or institutions. Surajit Sinha (1968) classifies the movements into (1) ethnic rebellion
(2) reform movements (3) political autonomy movements within the Indian Union (4) Secessionist movements, and (5)
agrarian unrest. K.S. Singh (1983a) makes more or less the same classification except that he uses the terms Sanskritization
instead of reform movement and cultural movements instead of ethnic movements. For brevity Ghanashyam Shah (ibid) has
reformulated the typologies as follows: (1) ethnic movements (2) agrarian movements and (3) political movements. Not only
is there a great deal of overlapping among all three types, but they are also interconnected and one leads to the other.

frafafaa e $1 ufer R fi e ust F ¢ .

BTl H TG W18 (1990) 7 HRA & WA SHicicHl W U dgd Agdyul AR Juciad Wiied THIAT FHIRId $i & foaH 3
3 & dfaliaq, SAeaE siigiaql @ afid ey agi-e aiffex &1 fad== fear a1 81 Ta.@. #81uE (1972) HieE
HiGIeH! ¥ ST Hiaia-l od dU® ¥4 4 UEY (a5 & S8 ®3d &1 98 (1) Wialhaamt (2) Eiedd! #R (3) Sifderi
HGITH & €U H 3d1 aUH & & | WAfhaarg] SigieH 3a A &7 & a9 aH g el WRY 3 & WY &3 &,
Safe Fiear / WREEG Hae Tl FRufa S0 TE- & U919 ®d &1 SxI-aTal 1 Hifaen! Seed d & of 9 /
7 fg Sfafearst, fasrat ar denstt @ e Sra Iikefa o1 gmfore sgawn ¥ guR: 31 IR & i s e o g
IR T (1968) SHialal & (1) WK A8l (2) YUR 3ficid (3) YR 99 & 3farid JeHiidd Waadl (4) SferTadrel
HigleH 3R (5) P YA & ©U H Filipd Hd ol &.00. U8 (1983) YUR & dd YEpIddHvl 3R SAdF SHiGieHl I g
Hiepiddm HiGIoH Weal & YR & WY HAGT dgl F DV B ¢ | JiEd U H U-1=0M T8 (@) 3 WY dqli-id aiidvl i
39 UBR 4 uiduiicd faar 2 : (1) 9 SiEeH (2) B saieH R (3) AaHiias sae| d 9 $Hf UeR dad e
B 81 § afcd d Wd: Hardd 3R Th gaL ®1 3R e Hi 8l

Who among the following has not classified and described social movements in India?

1. Surajit Sinha

2. K. 5. Singh

3. Ghanshyam Shah
4. Dipankar Gupta

1) 1
) 2
3) 3
4) 4

gfaRad 3 9 &9 YRd & 91 HigiaHl & aiiie AR f[§ae- Tal fear g2

1. Foitd 41
2. . 9. g
3. U-IRUTH W8
4. EUiBR T

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=39097] Question Description : dwbv_pg_scy_eng_2_q99
2[Option ID=39098]
3[Option ID=39099]
4[Option ID=39100]

Sl. No.100
QBID:50100

Read the following passage carefully and answer the question that follows:

Recently, Ghanshyam Shah (1990) has published a very important and well documented review of literature on social
movements of India in which, beside other dimensions, different typologies of tribal movements have also been described. L.
K. Mahapatra (1972) applies the typologies widely used for social movements to tribal movements. He describes these as (1)
reactionary (2) conservative, and (3) revisionary or revolutionary. The reactionary movement tries to launch a movement to
bring back 'the good old days’; whereas the conservative movement tries to maintain the status quo. The revisionary or
revolutionary movements are those which are organised for 'improvement’ or "purification’ of the cultural or social order by
eliminating "evil’ or 'low’ customs, beliefs or institutions. Surajit Sinha (1968) classifies the movements into (1) ethnic rebellion
(2) reform movements (3) political autonomy movements within the Indian Union (4) Secessionist movements, and (5)
agrarian unrest. K.S. Singh (1983a) makes more or less the same classification except that he uses the terms Sanskritization
instead of reform movement and cultural movements instead of ethnic movements. For brevity Ghanashyam Shah (ibid) has
reformulated the typologies as follows: (1) ethnic movements (2) agrarian movements and (3) political movements. Not only
is there a great deal of overlapping among all three types, but they are also interconnected and one leads to the other.

Fafafad e 31 ufey ok iy T ust ¥ S difve:

BT H U-TRUM g (1990) - HRA & WHIS® HigeHl W Ud sgd Hea@yul 3R uciiad diied THian YR of ¢ s g
AHOME & AfaRed, Fedg HiaieH & [&Ofid Uy 39 Jifieu &1 fad=- fear T §1 va.. H8/H (1972) 9Hie
HIGIEH! ¥ ST HiGIaH! g oaa® ¥4 § Ty [G9 & S04 ®Xd &1 98 (1) WKt (2) ®fiear! 4R (3) Hifldent
HGIeH & €U J 301 aUiH B & | Wiafhamarg] SiaeH a8 M &A1 @ ag aH g el WRY B & Wad avd &,
Saich wigalal / YREUEIGT HigioH Tyl FUf SHIT W o WM &3 ¢ URIeFaTe! a1 hilddRl ieiaH d § o &2 / 91w
1 35 dfafearar, fasrar ar geasil o fa-1 dra Wik id U1 FHfeid dawdl H YUR' 1 UREHIr & foy Siferd fby i g1
Rl g1 (1968) HiGIaH! @I (1) WY fdgig (2) GUR ialcH (3) HRA™ Y & 3iaid Joiiad Cidadl (4) Siciladig)
HiGIH AR (5) P AN & EU H Fildd Bd 51 .04, &8 (1983) IR & 9500 SRPIADH SR WA HaieHl B e
P iam 3G Wsal & WAl & UTY HHET del e ®id &1 Séd 9 § 99394 218 @a) - Iy dqi-a el ®f
39 THR 4§ uiduiied o 8 : (1) 9 SiaieH (2) B el SR (3) Toriae ead| T Jff &Ff teR daq Reaera
B gl ¢ dich d Wad: YalUd 3R Ub i BI 3R TR i g

Which of the following is not a part of Surajit Sinha's classification of movements?

1. Reform Movements

2. Secessionist Movements
3. Ethnic rebellion

4. Reactionary Movements

(1) 1
(2) 2
3) 3
(4) 4




Fufiad # ®F-91 Reid g1 @ sficiaHl & alibo &1 HF el 87

1. QUR 3figia
2. HEFTEarGl HiGieA

3, JodT fEEE
4. UfafEramarct e

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38741] Question Description : dwbv_pg_scy_eng_2_q100
2[Option ID=38742]

3[Option ID=38743]
4[Option ID=38744]




